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Question Id : 87827041209 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)

Question Label : Comprehension

The tollowing table shows the namber of smplovees working in five difterent colleges A-E, alongwith
h * & L '!.l Ly

the ratio of Males to Females [M : F] among them. Based on the data in the table, answer the

questions that follow.

College-wise Details of Employees

College | Number of Emplovees| Ratio
M:F

A 3040 13:6

B Yih0) 4:3

C 2920 4:11

D 2760 10:13

E 2541} 137

Sub questions

Question Number : 1 Question Id : 87827041210 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

What is the total number of male employees taking all the Colleges together 7
(1) 8120

(2) 8240

(3) B3al

(4) 8360
Options :

878270161841. 1
878270161842. 2
878270161843. 3

878270161844. 4

Question Number : 2 Question Id : 87827041211 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the average number of female employees taking all the colleges together 7

(1) 1512
(2) 1372
(3) 1336
(4) 1242
Options :

878270161845. 1
878270161846. 2
878270161847. 3
878270161848. 4

Question Number : 3 Question Id : 87827041212 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 2 Wrong Marks : 0

.
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mote than the number of female e1n“11w5 W mL.j:‘L, in colleges B and D together.
1] 4

2] 15
13 11
(4] 13
Options :

878270161849. 1
878270161850. 2
878270161851. 3

878270161852. 4

Question Number : 4 Question Id : 87827041213 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

What 15 the ratio of female employees working in College D to that in College E ?
1) 7:4

(2) 70 : 497

(3) 390 : 491

|'l:| 9.5

Options :

878270161853. 1

878270161854. 2

878270161855. 3

878270161856. 4

Question Number : 5 Question Id : 87827041214 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The number of employees working in College C is approximately i mare than that in
College D

1 #

(2] B

3] 4

4] 10

Options:

878270161857. 1

878270161858. 2

878270161859. 3

878270161860. 4

Question Id : 87827041209 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension
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SO (e wfee) When ot w0 €1 Afew ¥ O & o A o v o a
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Al
A 3040 136
B 356l 4:3
C 2620 411
D 2700 L0135
E 2840 13:7

Sub questions

Question Number : 1 Question Id : 87827041210 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

ot werfaarerl 1 foaem qey wH=fe =1 Fo den fFaf ©2

(1) 8120
(2) 8240
(3) 8360
(4) 8560

Options :

878270161841. 1
878270161842. 2
878270161843. 3

878270161844. 4

Question Number : 2 Question Id : 87827041211 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

i weifererEi = v 1y frem nfeen w=iEl w5 sitad g e e ?

(1) 1312
(2) 1372
(3) 1336
(4) 1292

Options:

878270161845. 1
878270161846. 2
878270161847. 3

878270161848. 4

Question Number : 3 Question Id : 87827041212 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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e o A ice e

() 9

(2} 13

(3 1

4) 13
Options:

878270161849. 1
878270161850. 2
878270161851. 3

878270161852. 4

Question Number : 4 Question Id : 87827041213 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

1) 7:4

(2) 780 : 497
(3) 390 :491
(4) 9:5
Options :

878270161853. 1
878270161854. 2
878270161855. 3

878270161856. 4

Question Number : 5 Question Id : 87827041214 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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W T

(1] 8
2] b

3] 4

W10
Options:
878270161857. 1
878270161858. 2
878270161859. 3

878270161860. 4

Sub-Section Number : 2
Sub-Section Id : 8782701726
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 6 Question Id : 87827041215 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

An econoimics leacher wants ko create aninfographics to explain supply and demand o her students,
Which of the followmg tools would be most suitable 7

(1) Edpuzzle

(2] Canva

(3] Quizlet

(4] Mmdmeister

Options :

878270161861. 1

878270161862. 2
878270161863. 3

878270161864. 4



Question Number : 6 Question Id : 87827041215 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

i 1 0 Fofirt o Fenfll g ol o s 6 % fom, PR A <F 2
fmfifan 7 4 47 71 A0 TR T
(1) VT

Options :

878270161861. 1
878270161862. 2
878270161863. 3

878270161864. 4

Question Number : 7 Question Id : 87827041216 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are bwo statements |

Statement [:  Norm referencing is used to inferpret @ score of an individual by comparing i
with those of ofher mdividuals.

Statement 11 Criterion referencing is used 1o interpret a person’s perlormance by comparing il
o some specified behavioural domain,

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1)  Both Statement | and Statement I1 are correct
(2]  Both Statement | and Statement I are meomect
(3]  Statement I is correct bul Statement 11 s incorrect

(4]  Statement |5 moorrect but Statement 1l is correct

Options :



878270161865. 1
878270161866. 2
878270161867. 3

878270161868. 4

Question Number : 7 Question Id : 87827041216 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270161865. 1

878270161866. 2

878270161867. 3

878270161868. 4

Question Number : 8 Question Id : 87827041217 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are the elements of observational learning ?
(A) Production

(B) Attention

(C) Identification

(D) Retention

(E) Motivation

Choose the correct answer from the options given below :

(1) (B), (C) and (D) Only

(2) (A)and (E) Only

(3)  (A), (B), (D) and (E) Only
(4) (C) Only

Options:

878270161869. 1
878270161870. 2
878270161871. 3
878270161872. 4

Question Number : 8 Question Id : 87827041217 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Yenyers STy % o frefafaa § S @R F §2
(A) SedTEd

(B) HEHM

(C) AT

(D) gfdgry

(E)  Sfsquom

1 fau o fompedt H @ W TR H =TI HIC
(1) = (B), (C) &R (D)

(2) A (A) SR (E)

(3) E (A), (B), (D) ¥R (E)

4) ¥ (Q)

Options :

878270161869. 1
878270161870. 2
878270161871. 3

878270161872. 4

Question Number : 9 Question Id : 87827041218 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

In "VARK" model of learni_ng st}fles, ‘A" stands for

(I) Auspicious
(2) Augmentary
(3) Authentic
(4) Aural
Options :

878270161873. 1
878270161874. 2

878270161875. 3



878270161876. 4

Question Number : 9 Question Id : 87827041218 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Hfepr Jeff 3 9k’ (VARK) Aigd ® ‘A’ w1 Ay ¢ ;¢

(1) srEdfEEs

2) =
(3) s
(4)
Options :

878270161873. 1
878270161874. 2
878270161875. 3
878270161876. 4

Question Number : 10 Question Id : 87827041219 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

When a very bright light is madent on our eyes, we immediately close our evelids,

This is an example of

|1} Biological instincts

(2)  Reflex actions

(3)  Desired instincis

(4) Intrapersonal instincts

Options :

878270161877. 1

878270161878. 2

878270161879. 3



878270161880. 4

Question Number : 10 Question Id : 87827041219 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
878270161877. 1
878270161878. 2
878270161879. 3

878270161880. 4

Question Number : 11 Question Id : 87827041220 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

[dently the disadvantages of open ended questions in survey research.

(A) The questions do nol suggest certain kinds of answer o respondents.

(B]  They are ime consuming for interviewers Lo administer,

(C) They require greater effort from respondents.

Choose the correct answer from the options given below

(1} {A)and (E) Only

(2] (B} and (C} Only

(3) (A)and (C) Only

(4) (A), (B) and (C)

Options :



878270161881. 1
878270161882. 2
878270161883. 3

878270161884. 4

Question Number : 11 Question Id : 87827041220 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270161881. 1
878270161882. 2
878270161883. 3

878270161884. 4

Question Number : 12 Question Id : 87827041221 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



[n a reference written in APA style, arrange the information pertaming to the reference in correct
order,

(A] DOl number

(B)  Volume number
(C}  Name of author
(D) Title of the article
Choose the correct answer from the options grven below :
1) (&), 81, (C), (D)
@ ®) (A0
& DL B (A
) (G D) (B (A)
Options:
878270161885. 1
878270161886. 2
878270161887. 3

878270161888. 4

Question Number : 12 Question Id : 87827041221 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

i e F fofae e v o ded B gefon g 5 w6 wn o s wie
(A) Frafamd wem
(B) WUE (FgR) HEA

(C) ™ %AW
(D) e # T
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(1) (A, (B], {C), (D)
(2) (B, (A), (), (D)
(3) (O (Ch (B), (A)
(4) Q. (D) (B). (A)

Options :



878270161885. 1
878270161886. 2
878270161887. 3

878270161888. 4

Question Number : 13 Question Id : 87827041222 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A research slud}r 1s said to have heuristic value if :

(1) It leads to no further research
(2) It generates more research
(3) Its results lack consistency

(4) Its results lack validity

Options :

878270161889. 1
878270161890. 2
878270161891. 3

878270161892. 4

Question Number : 13 Question Id : 87827041222 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TF Y 3499 &) Wa: MY (FRfes) 9o &1 9 < & a9 6
(1) == 3R ferr oy 1 =2 IR e B

(2) 7 i srfuer vy gfea 2 2t |
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Options :

878270161889. 1



878270161890. 2
878270161891. 3

878270161892. 4

Question Number : 14 Question Id : 87827041223 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

An entrance examination with objective type questions is conducted. For each comect answer, |

mark is awarded and for each incorrect answer 0.5 marks are deducted. The number of marks

scored by candidates who appeared i the examination, is an example of

(1)  nomimal vanable

12]  discrete variable

(3] ordinal variable

(4] contmuous varable

Options :

878270161893. 1

878270161894. 2

878270161895. 3

878270161896. 4

Question Number : 14 Question Id : 87827041223 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270161893. 1
878270161894. 2
878270161895. 3
878270161896. 4

Question Number : 15 Question Id : 87827041224 Question Type : MCQ Option Shuffling
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two siatements ;

Satement 1 Medical research usually involves pain or distress inanimals,

Satement 11:  Psychological research 1s usually benign and may involve little, if any, discombort
or the anmals,

In the light of the above statements, choose the most appropriate answer from the options given
below ;

(1) Both Statement | and Statement II are correct

2] Bath Statement | and Statement 11 are meomect

(3] Statement 1 is correct but Statement 11 i incomect

(4] Statement I is mcorrect but Statement Il is correct

Options:

878270161897. 1

878270161898. 2

878270161899. 3

878270161900. 4

:No

Question Number : 15 Question Id : 87827041224 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
878270161897. 1
878270161898. 2
878270161899. 3

878270161900. 4

Question Number : 16 Question Id : 87827041225 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A photograph constitutes a/an :

(1) Protective text
(2) Refined text
(3) Closed text
(4) Open text

Options :

878270161901. 1
878270161902. 2
878270161903. 3

878270161904. 4

Question Number : 16 Question Id : 87827041225 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

HEIE T BT e ?

(1) wfam a1
(2) HRHIfSIa e
(3) ©5 YIS

(4) Weohe UGS
Options :
878270161901. 1
878270161902. 2
878270161903. 3

878270161904. 4

Question Number : 17 Question Id : 87827041226 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The Buddhist concept of communication is marked by :
(1) Mono-causality

(2) Dyadic causality

(3) Multi-causality

(4) Skewed causality
Options:

878270161905. 1
878270161906. 2
878270161907. 3

878270161908. 4

Question Number : 17 Question Id : 87827041226 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

HaR = §ig Aaurn fEae g faf=a 2 €2

Options :

878270161905. 1
878270161906. 2
878270161907. 3

878270161908. 4

Question Number : 18 Question Id : 87827041227 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Al present, c:}rber communicabion 1s a :
(1) Fictiious reality
(2) Palpable reality
3)  Futuristic reality
)

(4) Conventional reality

Options :

878270161909. 1
878270161910. 2
878270161911.3

878270161912. 4

Question Number : 18 Question Id : 87827041227 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

IR H W =R 1 =1 HE S S 2
(1) oHIeufeR SRferehdl

(2) HEI= FrEfeeRdl

(3) wfasE arEafadd

(4) OCFINTA STEferehdl
Options :

878270161909. 1
878270161910. 2
878270161911. 3

878270161912. 4

Question Number : 19 Question Id : 87827041228 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The main objectives of public policy sphere commumication is o mvolve cifizens in ;
(A} Idea generation

(B] Policy critique

(C) Inmovative pelicy practices

(2 Ignoring oppositional views

(E)  Promotion of stereotypes

Choose he correct answer from the options given below :
(1} (A), (B) and {C) Only

(2] (B}, (C) and (D} Only

(3 {C), (D) and (E) Only

{4) (A}, (D) and (E) Only

Options :

878270161913. 1
878270161914. 2
878270161915. 3

878270161916. 4



Question Number : 19 Question Id : 87827041228 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
e A A F AN % g Sl ¥ Ami & e mive v gy
(A) ToaR TR o
(B) A = TR H
(C) 7o wiferr wenad o
(D) wiees % fererd =i Feeer o
(E) Fgdigdl & Faq o
A= fau o el § 6 e I o 9 &6
(1) A (A), (B) #R (C)
(2) &4 (B), (C) (D)
(3
(

3  F=E (Q), (D) #R(E)
4) FEE (A), (D) &% (E)
Options :
878270161913. 1
878270161914. 2

878270161915. 3
878270161916. 4

Question Number : 20 Question Id : 87827041229 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are bwo statements ;

Statement 13 Western commumicafion models examined the relationship among communicaive
elements on an mdividual basis.

Statement IT:  The Buddhst concepl of communication emphasises the contexhualisation of each
af the communicative elements.

In the light of the above statements, choose the most appropriate answer irom the opBons given
below ;

(1) Both Statement I and Statement 11 are tre

(2] Bath Statement | and Statement Il are false

(3] Statement I 15 true but Statement 11 & fakse

(4] Statement 135 false but Statement 11 is true

Options :

878270161917. 1

878270161918. 2
878270161919. 3

878270161920. 4

Question Number : 20 Question Id : 87827041229 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270161917. 1

878270161918. 2



878270161919. 3

878270161920. 4

Question Number : 21 Question Id : 87827041230 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ﬂnun”|wnnunaﬁﬁdluwlﬁndncFhﬂ'ﬂtﬂﬁlnﬁhq.mdIﬂnhni:upmlnrh.]hnrﬂmnr
bovs should assist one man and one woman to do the work in one day 7

(1] 13
2] 15
13 11
(4] 10
Options :

878270161921. 1
878270161922. 2
878270161923. 3

878270161924. 4

Question Number : 21 Question Id : 87827041230 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

T T, U e o 0 A T R s 6,0 50 R R wow || o s
T F 37 0 R 6 T F o o e 9 e o v o

1 13
(7] 15
3 1
W 10
Options :

878270161921. 1

878270161922. 2



878270161923. 3

878270161924. 4

Question Number : 22 Question Id : 87827041231 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A family consists of b members mamely A, B, C, 0, Eand F. B is the brother-in-law of C's mother,
Cisthe father of F. D is the father of A and F is the grandson of D. There are two female members
in the family. Which of the following pairs represent the female members in the family !

(1] Aand D
(2] Dand E
(3] AandE
(4] Band C
Options :

878270161925. 1
878270161926. 2
878270161927. 3

878270161928. 4

Question Number : 22 Question Id : 87827041231 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

AB,C,D,E #RF 9% S SR E WA A | BCR M H T8 C IR D AT
CAE, DI &) R A e § 1 Bt 43N W g v i e 8w
Fll 87

1 AFRD

() DH#mE

3 A¥ME

[4) BakC

Options :



878270161925. 1
878270161926. 2
878270161927. 3

878270161928. 4

Question Number : 23 Question Id : 87827041232 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Find the number that can replace question mark (7) m the series given below,

lr_:', 5, J.[.I-TI| ll| :I_J_E, EI"L].I ;'

(1) 48.5
(2} 525
(3) 625
(4) 725
Options :

878270161929. 1
878270161930. 2
878270161931. 3

878270161932. 4

Question Number : 23 Question Id : 87827041232 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

FF HE T Hom W A T e AT e 5 Aloei 1 5w g
15, 5, 10.5, 18, 27.5, 39, 2, ...

(1) 4853
2} 525
(3} 625
4) 725

Options :



878270161929. 1
878270161930. 2
878270161931. 3

878270161932. 4

Question Number : 24 Question Id : 87827041233 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A child i Iocking for hes father. He goes 100 meter towards east and then turns to his right and
goes 30 meters. From there the child again turns fo his right and goes for 40 meters, Where he
finds his father at his uncle's place. How far is his uncle’s place from the starting point of the
child !

(1} ap,5 meter

(2] 40 meter

(3 40,5 meler

4 3010 mefer

Options :

878270161933. 1

878270161934. 2

878270161935. 3

878270161936. 4

Question Number : 24 Question Id : 87827041233 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



0 =l A T 9% T | 7 A AR 100 S A 7 R R e 2 g g e a0 i
T | T DT T T 0 T A4 A R A A E W WA A
B % i e O e T g R

1) 35 %=
(@) 405
B 05T
4 30,10 T
Options:

878270161933. 1
878270161934. 2
878270161935. 3

878270161936. 4

Question Number : 25 Question Id : 87827041234 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In a certain coding language :

(a) 1000 ie. 10% is coded as 1331

(b) 125i.e.5% is coded as 216

How 729 will be coded in that language ?

(1) 1000
(2) 1728
(3) 1331
(4) 2197

Options :

878270161937. 1
878270161938. 2
878270161939. 3
878270161940. 4



Question Number : 25 Question Id : 87827041234 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Hﬁ:W@wﬁ

(a) 1000 ef7d 10° %! 1331 o &9 | pfea foran @1 8
(b) 125 31¥id 5° %I 216 % ®9 H Hfed fohan 7 &
dl 39 TN H 729 1 Y Hied foman s ?

(1) 1000

2) 1728
3) 1331
4) 2197

S — .

Options :

878270161937. 1
878270161938. 2
878270161939. 3

878270161940. 4

Question Number : 26 Question Id : 87827041235 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are contradictory to each other ?
(A) All plants are fungi

(B) No plants are fungi

(C) Some plants are not fungi

(D) Some plants are fungi

Choose the correct answer from the options given below :

(I) (B) and (D) Only

(2) (A) and (B) Only

(3) (C) and (D) Only

(4) (A) and (D) Only

Options :



878270161941. 1
878270161942. 2
878270161943. 3

878270161944. 4

Question Number : 26 Question Id : 87827041235 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
frafafea o #M-9 F979 TF TH F AT § 2
(A) T 0N FIF T |
(B) HIZ Uren eIk e
(C) F5 WY Fa® el ¢
(D) FB U9 FIF ¢ |
"4 feu 7o fowedi § 9 W& SO o 999 SHife
(1) %= (B) #iR (D)

(2) FaE (A) HAR (B)
(3) dd (C) 3R (D)
(4) A (A) 3 (D)

Options :

878270161941. 1
878270161942. 2
878270161943. 3

878270161944. 4

Question Number : 27 Question Id : 87827041236 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



[f the statement - * All trucks are polluting vehicles™ is given as false, then which of the following
statements can be immediately mierred to be frue ?

(1) Some trucks are polluting vehicles.

2] Some tmcks are nok pollting vehicles,

(3] Notrucks are polluting vehicks,

(4] No polluting vehicles are trucks,

Options:

878270161945. 1

878270161946. 2

878270161947. 3

878270161948. 4

Question Number : 27 Question Id : 87827041236 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
e F0 - 0 7% TE A £1' T o v € et € © 498 R ow A AR w
TR AT
1) T8 EEAAC
() %9 7 W A W o
(3) % f 7% W A
() R i R A 0 o
Options :
878270161945. 1
878270161946. 2
878270161947. 3
878270161948. 4

Question Number : 28 Question Id : 87827041237 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Which of the following statements is equivalent (o the statement - "Some philosophers are not
idealists.”?

(1] Some philosophers are not non-idealists,

2] No ideglists are philosophers.

(3] Some non-idealists are not phibsophers,

(4] Some non-idealists are nol non-philosophers,

Options :

878270161949. 1

878270161950. 2

878270161951. 3

878270161952. 4

Question Number : 28 Question Id : 87827041237 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
frefafea & #7 wua-' F il yored 7= € & guqes 872
(1) T3 <HifE T-veEar] T8 € |

(2) IS FoaFael St 7 ¢
(3) FP N-yFaR! v =@ €
(4) T NT-YIgarE R-gRiE 7 2 |

Options :

878270161949. 1
878270161950. 2
878270161951. 3

878270161952. 4

Question Number : 29 Question Id : 87827041238 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Which fallacy 1s involved in the following statement “Indian pharmaceutical companies are
profitable, therefore, average Indian pharmaceutical company i 5'1'-:1‘ table™?

(1] Fallacy of Livision
(2] Hasty Generalisation
3] Slippery Slope

(4] Fallacy of Accident
Options :
878270161953. 1
878270161954. 2
878270161955. 3

878270161956. 4

Question Number : 29 Question Id : 87827041238 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
et o 8 SR- 7 2 el & - v it Sl A § g st v
(1) TaveR 1 7%
(2) S
(3 TEEE FEn
() Ul 2
Options :
878270161953. 1
878270161954. 2
878270161955. 3

878270161956. 4

Question Number : 30 Question Id : 87827041239 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements ;

Statement [ The Anstobelian syllogism is only inductive and formal,

Statement I1:  Nvyiva syllogism is deductive - mductive and formal-matenial

In the light ol the above stalements, choose the most appropriate answer [rom the oplions gwven
beliow

(1) Both Statement | and Statement 11 are true

(2] Both Statement | and Statement 1l are false

(3] Statement 1 is true but Stabement 11 s fakse

(4] Statement |15 false but Statement Il 15 true
Options :
878270161957. 1
878270161958. 2
878270161959. 3

878270161960. 4

Question Number : 30 Question Id : 87827041239 Question Type : MCQ Option Shuffling
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

WA 1: T T AEAEE FE0 A S A 6 o

WA N A 1 AR (TR - SIS $ S Tk e T
0 FH F A 4, T e § 8 g S v Fien

(1) HUT1HR FEFNEH 79

(2)  HUT AT HE 1 2 A9 §

(3) TG 1A T, A w1 FHA

(4] TR G €, A RN T &

L

Options :

878270161957. 1

:No



878270161958. 2
878270161959. 3

878270161960. 4

Question Number : 31 Question Id : 87827041240 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

An advantage (v a business that uses [ntranet capabulities is that it allows emplovees i share the
busmess s information with

(1] Customers,

(2]  Each other.

(3] Competitors

(4] Former employees.

Options :

878270161961. 1
878270161962. 2
878270161963. 3
878270161964. 4

Question Number : 31 Question Id : 87827041240 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

7 YR WRYLE TR 9 3 W FEA @ Y R T i 6 e w g
et = e w9 73 H il TH T

(1) eE F

() TE-gE AN

(%) e o e
) T I E

Options:



878270161961. 1
878270161962. 2
878270161963. 3
878270161964. 4

Question Number : 32 Question Id : 87827041241 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Consider the following MS-EXCEL screenshot that shows the product code, name of the state
which produced the product and Quality of the product :

A B C D
| |ProductCode| State | Quality
2 Al HP A
i Al MP A
1 A LP A
3 A4 UP B
b AS Ur i

Which of the followang EXCEL formulae can be typed in Cell D1 to answer the queston : How
many different product codes form UP are of Grade “A” quality 7

A, = COUNTIES (82:Bs, "=UP", C2C8"=A")

B. = COUNTIFS (CXCh, "=A", BZ:B6,"=UP")

C. = COUNTIFS (BB, "UP", C2:Co, "A")

Chaose the correct answer from the options given below :

(1) (A) and (B} Only

(2} (A and (C) Only

(3) () and (C) Only

(4) (A), (B) and (C)

Options :
878270161965. 1
878270161966. 2



878270161967. 3
878270161968. 4

Question Number : 32 Question Id : 87827041241 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frefete THus v S  fEEn S Re 30E S, 795 9 9 75 ) T8 4 TR

. B | & | B
1 | T ®eR | ™ | TE
2 Al HP | A
3 A2 MP | A
4 A WP | A
j Ad up | B
6 A5 P | B

UP # fifm = 7 #te A" e e o §7 50 W o0 7 2 i et D of Foeffos o
A 1 T 2N o e

A, = COUNTIFS (8286, "=UP”, C2C6"=A")

B. = COUNTIFS (C2C6, "=A", B2:6,"=UP")

C = COUNTIFS (BB, “UP", C2:C6, “A")

A Tam o foe o @ WG I T i

(1) & (A) 4R (B)

(3) R (A) M(C)

(3 % B) Q)

@) (AL (B ()

&

-

Options:
878270161965. 1
878270161966. 2

878270161967. 3



878270161968. 4

Question Number : 33 Question Id : 87827041242 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Given below are two statements ;
Matement 1 “Disk detragmentation’ makes files that are contiguous ina disk as fragmented,

Statement 11: A device controller that controls a device will deal with the operaling syslem
threugh device dnver.

In the light of the above statements, choose the most appropriate answer from the opfions given
below ;

(1) Both Statement | and Statement I are true

(2] Bath Statement | and Statement 11 are flse

(3] Statement 155 true but Statement 11 s fakse

(4] Statement 115 false but Statement H 15 true

Options :

878270161969. 1

878270161970. 2

878270161971. 3

878270161972. 4

Question Number : 33 Question Id : 87827041242 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ﬁﬁiﬂ%ﬂ?ﬁﬂﬂﬁf;
TR ‘o Tt o fos f ne v 51 sl wm )

TR : T e A e et fm v aef e B 4w
|

TRIH FU F Ao 6, A 0 e d 4w I 9 A
) FRISFRNET =E

@) TR ER A

(3 TR ITE C A R SAA

) TR | A, WA SR T

Options :

878270161969. 1
878270161970. 2
878270161971. 3

878270161972. 4

Question Number : 34 Question Id : 87827041243 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements regarding Artifinal Intelbgence (Al 1s/are correct ?

|A) Al systems can be used in email spam filters,

[B) Al systems are capable ol analvzing uncerfain information.

(C) An Al system is a system for capturing, storing, processing and displaving data related to
pasitions on earth's surface,

Choose the correct answer from the options given below :

(1) (A] Cnly

(2] (A} and {B) Only

3} (A)and (C) Only

(4) (B} and [C) Only

Options :

878270161973. 1



878270161974. 2
878270161975. 3

878270161976. 4

Question Number : 34 Question Id : 87827041243 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Fm g (Al) F Fed o e o 4 SR e e
(A) TS (AL) 75T T WM S B fReed # W aEa g

B) e (Al) T et o % foe e o
(C) T (AL T2 Y 9w el A e 2 R, W, S v v A g
o

4 T m et 9 98 0 TR A
1) & (A)

(2) & (A) HR(B)

(3) & (A #O)

() F (B) 4N ()
Options :
878270161973 1
878270161974, 2
878270161975. 3

878270161976. 4

Question Number : 35 Question Id : 87827041244 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following features are available in word processing software such as M5-WORDH
|A) Spell checker and Thesaurus

[B) Fage Orientation

(C)  Mail Merge

(D) Slide Transitions

Choose the correct answer from the opbions given below :
(1) (A), (B) and (D) Only

(2) (A} and (C) Only

(3} (B) and (C) Only

(4] (A), (B) and (C) Only

Options:

878270161977. 1

878270161978. 2

878270161979. 3

878270161980. 4

Question Number : 35 Question Id : 87827041244 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
UHUE TE T a2 GRS sreeam | frefafag § § s 5 afymeam e 7
(A) TIF = & guim
B) T afeE
(C) TE T
(D) wEE o
4 Tou T feRe § § WE S 6 9 i
(1) & (A), (B) 4R (D)
(2) T (A) AN (C)
(3) A (B) N (C)
(4) = (4), (B) (Q)

Options :



878270161977. 1
878270161978. 2
878270161979. 3

878270161980. 4

Question Number : 36 Question Id : 87827041245 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which one of the following is not caused by polluted water ?

(1) Cholera

(2) Dysentery
(3) Typhoid

(4) Tuberculosis

Options :

878270161981. 1
878270161982. 2
878270161983. 3

878270161984. 4

Question Number : 36 Question Id : 87827041245 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Freffad § Fr-dr S < 56 F HR0 T O & 2

(1) %=m

(2) AfaEr/AEa

(3) TARES

(4) Tufces
Options :

878270161981. 1



878270161982. 2
878270161983. 3

878270161984. 4

Question Number : 37 Question Id : 87827041246 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are bwo statements ;

Statement :  Toxic chemicals often injure human ongans and organ systems,

Statement 11 Toxicants that damage kidneys are called as Hepatoloic

[n the light of the above statements, choose the most appropriate answer from the options piven

below ;

(1)  Both Statement | and Statement Il are correct

2] Bath Statement | and Statement 11 are mcomect

(3] Statement 1 is correct but Statement 11 s incorrect

(4] Statement | is moorrect but Statement 1 is comect

Options :

878270161985. 1

878270161986. 2

878270161987. 3

878270161988. 4

Question Number : 37 Question Id : 87827041246 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A= & FyE fer e §

AT Tauea A I WG o oiT WME S @ i e vEeE €
FUTI: 9 T o T I THUE TeAN €, 3% eURIRIfagE Fel S ¢ |
IR FYH 6 ek H, = I 70 fosredi § 9 W IR T4 HoC
(1) eI 3w 1S T &

() AT HAT 1 A T §
(3) Y I 9l B, I SR 11 TTeld ©
(4) HIT 1A T, AfET HOT I T ©
Options:

878270161985. 1

878270161986. 2

878270161987. 3

878270161988. 4

Question Number : 38 Question Id : 87827041247 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following are related fo "source neduction’ in integrated solid waste management ?
(A) Reduced Toxicaty

[B) Composting

(C) Less Packaging

(D) Landiil

] More durable products

Choose the correct answer from the oplions given below :
(1} (A}, (B) and {C) Only

{21 (A), (C) and (E) Only

(3] (B}, (C) and (D) Only

(4] (O}, (D) and (E) Only

Options :

878270161989. 1



878270161990. 2
878270161991. 3

878270161992. 4

Question Number : 38 Question Id : 87827041247 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

gufeq g dufire wave |, fiafaes § 9-n 9 He grs ' | gt #2
(A) =Tafo feumE

B) R A

(C) TEfE # F

(D) #EfFA

(E) @itk Tes 3w

A T5u 70 fowedl o 9 W I F 99A Hiiaw
(1) &4 (A), (B) 31 (C)

(2) FAd (A), (C) #R (E)

(3) F49 (B), (C) 3R (D)

(4) A (C), (D) 3T (E)

Options :

878270161989. 1
878270161990. 2
878270161991. 3
878270161992. 4

Question Number : 39 Question Id : 87827041248 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Depletion of stratospheric ozone results into

(A) Increase in the ultraviolet radiation

(B) Increase in infra-red radiation

(C) Increase in skin cancer

(D) Significant impact on terrestrial flora and fauna
(E) Decrease in cataract cases

Choose the correct answer from the options given below :
(1) (A), (B), (C) and (D) Only

(2) (A), () and (D) Only

(3) (B), (©), (D) and (E) Only

(4) (A), (B) and (C) Only

Options:
878270161993. 1
878270161994. 2

878270161995. 3
878270161996. 4

Question Number : 39 Question Id : 87827041248 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



AT Hed ™ SlsiH & ffaaerton (ar) =1 9 & €
(A) e fafrao # gfg

(B) sTeEd fafeew # dfg

(C) =M FE ¥ 9fg

(D) el afadl oY sita Sigsll T Heayy 99E
() wrfoanfsic o kel ¥ hH

"= feu o fawedi § 9 WE 39 & 994 FIf9T
(1) e (A), (B), (C) 3R (D)

(2) A (A), (C) 3T (D)

(3) 9 (B), (C), (D) ¥R (E)

(4) S (A), (B) IR (C)

Options :

878270161993. 1
878270161994. 2
878270161995. 3
878270161996. 4

Question Number : 40 Question Id : 87827041249 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Nitrous Oxide (N,O).

(A) causes acid rain

(B) is laughing gas

(C) 1is carcinogenic

(D) is a green house gas

(E) 1is a criterion air pollutant
Choose the correct answer from the options given below :
(1) (A), (D) and (E) Only

(2) (C), (D) and (E) Only

(3) (B) and (D) Only

(4) (A) and (E) Only

Options:
878270161997. 1
878270161998. 2

878270161999. 3
878270162000. 4

Question Number : 40 Question Id : 87827041249 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



E2H AEFES (N,O)

(A) 3T o1 1 HEF € |

(B) @IferT 7E (THM A 19) T
(C) FOTHE (FRfEFNE)
(D) TrE=Eime

(E) T Ha AUy & |

= feu o foredi § 9 98 39T &1 =994 e
(1) = (A), (D) 3R (E)

(2) ad (C), (D) &R (E)

(3) ad (B) &R (D)

(4) I (A) 3R (E)

Options :

878270161997. 1
878270161998. 2
878270161999. 3

878270162000. 4

Question Number : 41 Question Id : 87827041250 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The Michael Sadler commission was constituted to study the problems of :
(I) Bombay University

(2] Madras University

(3) Poona University

(4) Calculta University

Options :

878270162001. 1

878270162002. 2

878270162003. 3

878270162004. 4



Question Number : 41 Question Id : 87827041250 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

WiEdhol S0 AEM H e e g F e w1 3 T T o
(1) af i

(2) v TEvEtEEeE

(3) I fevaraEmE

YR RE R RELE BRI
Options :

878270162001. 1
878270162002. 2
878270162003. 3
878270162004. 4

Question Number : 42 Question Id : 87827041251 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
The National Education Policy, 1986 recommended the establshment of in the country,
(1) Community colleges

2] Open universities

(3] National universities of eminence

14 D.'E'J.'E:;"}i:'ll'-'l-'t'iﬂl'IJ:'IE'I.".'Z"-“}.EH
Options:

878270162005. 1

878270162006. 2
878270162007. 3

878270162008. 4



Question Number : 42 Question Id : 87827041251 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

et foner Hifa, 1986 = ¥  forgert o T fawifar &1 off ?

(1) WHeEIas Aefaemed

(2) He favefe=me

(3) UL Ispeal favafaenem
(4) Taug-ar fevafaereE

Options :

878270162005. 1
878270162006. 2
878270162007. 3

878270162008. 4

Question Number : 43 Question Id : 87827041252 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement [:  Curzon's university reforms reflected the official attitude towards the spread of
higher education m Inds.

Statement 11 There was no resistance lo the Indsan universities Bill piloted by Curzon from
any section of Indians,

In the light of the above statements, choose the most appropriate answer from the options given

helow :

(1) Both Statement I and Statement I are true
(2]  Both Statement | and Statement 11 are false
(3] Statement 155 true but Statement 11 & fakse

(4) Statement Lis false but Statement I is true

Options :

8782701620009. 1



878270162010. 2
878270162011. 3

878270162012. 4

Question Number : 43 Question Id : 87827041252 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

BAL: T 5 e p vy e e e o e i
w0

T ;T g e A e G w1 e & G e i
w4 |

TR O o AR ¥, 7 o e 4 A 3 o
1) FRIFERENTF 7L

() F 1T A E

F) FEIE 2, O w1

i

A FRN T

Rl

1) T

Options :

878270162009. 1
878270162010. 2
878270162011. 3

878270162012. 4

Question Number : 44 Question Id : 87827041253 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL

List -1 List - II
(Ancient thinkers) (Area of study)
(A) Panini (I) Astronomy
(B) Jivaka (II) Grammar
(C) Bhaskara (IlT) Medicine
(D) Kanada (IV) Physics

Choose the correct answer from the options giv en below :

(1) (A)-I), (B)-(1D), (©)-(0), (D)-(IV)

(2)  (A)-ID, (B)-(I), (C)~(II), (D)-(IV)
(3) (A1), (B)-I1D), (O)-(), (D)-IV)
(4) (A1), (B)-IV), (O-0), (D))

Options :

878270162013. 1
878270162014. 2
878270162015. 3

878270162016. 4

Question Number : 44 Question Id : 87827041253 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 9 gEit-11 =1 faerd hifeg .
Tell-1 a1

(wrEi fea=mes ) ( T &)
(A) rforE () wEea-fasm
(B) iiEk (II) AR
(C) WTE=RY (I TafeRem
(D) TS (IV) Hifaerame

= feu 7o fasredi § ¥ 98 I 1 =994 S
(1) (A, (B)-(1D), (O)-(I), (D)-(IV)

() (A, (B)-(1), (O)(II), (D)-IV)
(3) (A1, (B)-(ID, (©-), (D)-AV)
(@) (A, (B)-(V), (O)-(1), (D))

Options :

878270162013. 1
878270162014. 2
878270162015. 3

878270162016. 4

Question Number : 45 Question Id : 87827041254 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL

List - I List - II

(Name of University) (Year of Establishment)
(A) Bombay University () 1916
(B) Delhi University (I) 1943
(C) Utkal University (I) 1922

(D) SN.D.T. Women University (IV) 1857
Choose the correct answer from the options given below :
(1) (A)-(1V), (B)-(IT), (C)-(1L), (D)-(I)

(2)  (A)IL), (B)-(1V), (C)(II), (D)-(D)

(3)  (A)IV), (B)-(LD), (O)(1), (D)-(IT)

(4) (A)-(I), (B)-(ID), (O)-(IV), (D)-(I)

Options :

878270162017. 1
878270162018. 2
878270162019. 3

878270162020. 4

Question Number : 45 Question Id : 87827041254 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 9 gEit-11 =1 faerd hifeg .
qﬁ.l -11

( favataemera & 7m) ( FRITOET Y )
(A) dil favaferme™ (I) 1916
(B) feoett favafammem (I) 1943
(C) Ichd Tavaia=nad (1) 1922

(D) TH.UAELE. Higen favafaemem (1IV) 1857
= feu U foredi § ¥ W@ I B =99 HIMGT

() (A)-(IV), (B)(IIL), (C)-(1I), (D)~(T)

(2)  (A)-(II), (B)~(IV), (C)=(1L), (D)-(T)

(3)  (A)-(IV), (B)-(IIL), (C)-(I), (D)-(IT)

(4)  (A)-(II), (B)~(1), (C)-(IV), (D)-(I)

Options :

878270162017. 1

878270162018. 2

878270162019. 3

878270162020. 4

Sub-Section Number : 3
Sub-Section Id : 8782701727
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827041255 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension



Read the passage and answer the questions that follow ;

Science and the techniques to which it has given nise have changed human life during the
last hundred and fitty vears more than it had been changed since men took to agriculture, and the
changes thal are being wrought by science conlinue al an increasing speed. There & no sign of any
new stability to be atlained on some scieatific plateau. On the confrary, there 35 every reason Lo
think that the revolutionary possibilities of sclence exlend immeasurably bevond what has so far
been realised. Can the human race adjust ilsell quickly enough Lo these verliginous transformatioms,
ar will it, as innumerable former 5 pech-.-; have done, [iht'l‘lﬁh [rom back of .Jda[:ﬁahuijl _I.'? The dincsaurs
wers, in their Lia}', the kards of creation, and if there had been |1hjlnr.=.nphi-rs among thermn, not one
would have foreseen that the whole race might penish. But they became extinct because they
couk] net adapt themselves to a workl without swamps. [n the case of man and science there 15 3
whelly pew factor, namely that man himself is creating the changes of environment to which he
will have o adjust himself with unprecedented rapidity. Bul, although man through his scientific
skall is the cause of the changes of environment, most of these changes are not willed by human
beings. Although they come about through human agencies, they have, or at any rate have had so
far, something of the inexorable inevitability of natural forces, Whether ! Mahiredmdupthemamps
or nen deliberately drained them, makes litle difference as regards the ultimate result. Whether
men will be able to survive the changes of environment that their own skill has brought about is an
open question. If the answer is in the atfirmative, it will be known some dav; if not, net. I the
answer 15 to be in the alfirmative, men will have to apply scientilic ways of thinking to themselves
and their institutions,

Sub questions

Question Number : 46 Question Id : 87827041256 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Dinosaurs became extinct because of :
(1) A massive earthquake

(2) Incessant rainfall

(3) Extreme cold

(4) Lack of adaptability

Options :

878270162021. 1

878270162022, 2

878270162023. 3

878270162024. 4



Question Number : 47 Question Id : 87827041257 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In the scientific age who is responsible for the changing environment ?

(1) Nature

(2) Man

(3) Natural Disasters
(4) Wars

Options :

878270162025. 1
878270162026. 2
878270162027. 3
878270162028. 4

Question Number : 48 Question Id : 87827041258 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The main focus of the passage is on :
(1) Extinction of Species
(2) Extinction of Dinosaurs
(3) Science and Human life
)

(4) Destruction of Forests

Options :

878270162029. 1
878270162030. 2
878270162031. 3
878270162032. 4

Question Number : 49 Question Id : 87827041259 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

“If the answer is in the affirmative ......... - refers to the question related to ;
(1) Changes in environment

(2) Human survival

(3)  Human extinction

(4) Changes in scientific approach

Options :

878270162033. 1
878270162034. 2
878270162035. 3

878270162036. 4

Question Number : 50 Question Id : 87827041260 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

According to the passage the following are true

|A) Science 15 bringing about rapk] changes.

(B) There 5 every likelihood that a scientific plateau will be reached.

(C) Men will definitely perish like the Uinosaurs,

(D) There are chances that mankind may become extinct due to lack of adaptability.

[E]  Changes m the environment made through human agencies have so far shown almost the
same mexorable mevilability & that of natural forces in the past,

Choose the correct answer [rom the options given below |

(1) (A}, (D) and (E) Only

(2) (A}, (B) and (E) Only

(31 (A} and (E) Omly

(4] (B}, (C)and [E) Only

Options :

878270162037. 1

878270162038. 2



878270162039. 3
878270162040. 4

Question Id : 87827041255 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension

fomr "o o i i A & S ST

S H g e A e i fan %, oft o 2 e T R A AR W 39
1T e T ] R 0 W | G I, 7 e A 0 o |
T W 50 R, 99 0 R e s e e § ) #  ah e
TR R F T T VW € 9 T § O 0§ e e
(wiia) 3 B e, S 2 arppeiaa & 4§ g A i i Eee A e | 9 9 § e
ez o &, o of 375 A o e A A ol 7 o e o e e i s
R § | W A o 21 0 i S e e S () A A A A o | W
i faam % vl ¥, T 0F T A6 € W - v e v oies w om e
ST R F T T F SO A W e W A S e g e
ofvei 1 S &, T e A e T 5 i T SE T i p ) @ o
TR ST g A, F o T W w ) SR A 1 3 o e e
0 YT et 1 6 AN 7 T AR e TR R, 7 oA R R A A el
TIFTa A T 71 T T A ST & e A 1 d wme o, o A et o
T T I & T o TR T T O A | 2 I S g A o O A
W A T AR F 5 R A T W A

Sub questions

Question Number : 46 Question Id : 87827041256 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



AR TR FRoT faera 2 T ?

(1) S99 y&Y

(2) ATeRd =i

(3) =/ ATHfae 3t

(4) STIFHEAAEA HT FHHI
Options:

878270162021. 1
878270162022. 2
878270162023. 3
878270162024. 4

Question Number : 47 Question Id : 87827041257 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e 7 H yEierer Wiadd % fau s Swert § 2

(1) W&

(2) HIH/HTE
(3) W ST
(4) 45
Options :

878270162025. 1
878270162026. 2
878270162027. 3

878270162028. 4

Question Number : 48 Question Id : 87827041258 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T 1 e oy feig fEa R ?
(1) vl =h1 fereqeieRoT

(2) EEAERI 1 e
(3) oM &R wHe SfeH
(4) = 1 foamy

Options:

878270162029. 1
878270162030. 2
878270162031. 3

878270162032. 4

Question Number : 49 Question Id : 87827041259 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(1) e ¥ qfiEd

(2) HFE FTSiifem

(3) WE T

(4) ot I H gfEdd
Options :

878270162033. 1
878270162034. 2
878270162035. 3

878270162036. 4

Question Number : 50 Question Id : 87827041260 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T & AR e i aR s
(4) R TR A
(B) T TGV ¢ T gt sl w1 wi a
(C) W T =Y 1 2 & e T
(D) R AT & ST 1 FH F 0 e A o e
(F) PR A g e T v iR 3 6 W 6 AR SR i
e T ol o 1 O B
4 o0 T e % R I A R
(1) @& (A), (D) 30 ()
2) & (A), (B) FW(E]
() (A) HR(E)
() % (B), () M (E]
Options:
878270162037. 1
878270162038. 2
878270162039. 3

878270162040. 4

Social Work
Section Id : 878270945
Section Number : 2
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200

Enable Mark as Answered Mark for Review and
Yes
Clear Response:

Maximum Instruction Time : 0



Sub-Section Number : 1

Sub-Section Id : 8782701728
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 51 Question Id : 87827041261 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Social Work as a prs.'}fes;sicm started m 1899 at :

(1) Geneva

(2) London

(3) Chicago

(4) Amsterdam
Options :

878270162041. 1
878270162042. 2
878270162043. 3

878270162044. 4

Question Number : 51 Question Id : 87827041261 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
U a9 F 9 H grrferss w1 % e 1899 # el g of ?
() S

(2 @A

(3) TerEwT

(4) THeEH
Options:

878270162041. 1



878270162042. 2
878270162043. 3

878270162044. 4

Question Number : 52 Question Id : 87827041262 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Whech of the I'|'-|Icm'i|15 15 Hhe appropriate rode of secial worker '.'.'|‘]'|~,:-r'|:;3 witha client o hnd selubion
to his/her social dvshunctioning ?

(1} [Planner

|'3] Advocate

3] Faclhitator

(4] Enabler

Options :

878270162045. 1

878270162046. 2

878270162047. 3

878270162048. 4

Question Number : 52 Question Id : 87827041262 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ot At % mofaes aukeT &1 99E W9 0 F 2T E 99 T s fe wmies s
% T o P g E
)

12)
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Options:



878270162045. 1
878270162046. 2
878270162047. 3

878270162048. 4

Question Number : 53 Question Id : 87827041263 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The National Soctal Wirker's Exchange which was particularly inferested in professional standards,
led the movement to establish a comphrevise organisation named

(1) National Association of Social Workers

(2]  Amencan Association of Socal Workers

(3)  Council of Social Work Education

(4]  Bertha Caper Reynolds Society

Options :

878270162049. 1

878270162050. 2

878270162051. 3

878270162052. 4

Question Number : 53 Question Id : 87827041263 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

e 3 T 70 9, T W
() FfER iR % T
() ¥ FH HieE deed



Options :

878270162049. 1
878270162050. 2
878270162051. 3

878270162052. 4

Question Number : 54 Question Id : 87827041264 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

World Social Work Day is celebrated every year on :

(1) First Tuesday of March

(2) Third Tuesday of March

(3) Second Tuesday of March

(4) Forth Tuesday of March
Options:
878270162053. 1
878270162054. 2
878270162055. 3

878270162056. 4

Question Number : 54 Question Id : 87827041264 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

fava oo &4 foayg o a4 oA SEr e
(1) H= % Y8 HIeE ol
(2) HE % T HEER
(3) W= THL AR H
(4) HE % =Y HIAAR H

Options :



878270162053. 1
878270162054. 2
878270162055. 3

878270162056. 4

Question Number : 55 Question Id : 87827041265 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who contributed towards Episteme/Discourse theory ?
(1) Ivan Pavlov

(2) Michel Foucault

(3) Aaron Beck

(4) Skinner

Options :

878270162057. 1

878270162058. 2

878270162059. 3

878270162060. 4

Question Number : 55 Question Id : 87827041265 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ufreeHi/fewrrd fagid # fhaa amer fwan 2

(1) o greere

(2) HEFA Fehl

(3) HH uFk

(4) TERTR
Options :

878270162057. 1



878270162058. 2
878270162059. 3

878270162060. 4

Question Number : 56 Question Id : 87827041266 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The process though which 'lrrational elements carried over from other relationships” displaced
upon the therapist, is known as :

(1) Transtersnce

(2] Center-Transterence

3] Lear

(4]  Eeeression

Options :

878270162061. 1

878270162062. 2

878270162063. 3

878270162064. 4

Question Number : 56 Question Id : 87827041266 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:



878270162061. 1
878270162062. 2
878270162063. 3

878270162064. 4

Question Number : 57 Question Id : 87827041267 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The analysis of an nstitution takes the form of indentifying 1ts positive role in the social system is
called :
(1) Radacalism
(2} Functionalism
(3} Capitalism
(4} Feudahsm
Options :
878270162065. 1
878270162066. 2
878270162067. 3

878270162068. 4

Question Number : 57 Question Id : 87827041267 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

R . A Bhgs = 2 4
ferdll e 1 v S A R R A SR SRR ® R T A R
(1) HWE WETar

2] THETR



Options :

878270162065. 1
878270162066. 2
878270162067. 3
878270162068. 4

Question Number : 58 Question Id : 87827041268 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

_ refers fo reverfing fo less mature behaviours that are characlenstc of earlier stages of
development,

(1) Compensation

(2} Regression

(3} Projection

(4] Day dreaming

Options :

878270162069. 1

878270162070. 2

878270162071. 3

878270162072. 4

Question Number : 58 Question Id : 87827041268 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

1 94 7 iR o A AN A B o e R s )

(1) wff
Ill:l 13_ ﬂliqj-

(4) o &=



Options :

878270162069. 1
878270162070. 2
878270162071. 3
878270162072. 4

Question Number : 59 Question Id : 87827041269 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

The First st of the case work process as mall problem-saly ing, 1 fo ascertain and clarify the
(1) Remuneration for selving the problem

(2} Environmental aspects of the pmblem

(3} Facts of the problem

(4} Support system of the client and case worker

Options:
878270162073. 1
878270162074. 2
878270162075. 3

878270162076. 4

Question Number : 59 Question Id : 87827041269 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



I & 7w weE A 8 2 ArfEE o O @ T T %1 Tl T S

TR 5

(1) T A F A

(3) W e
(%) oW
() s by i 5 i 9
Options :
878270162073. 1
878270162074. 2
878270162075. 3

878270162076. 4

Question Number : 60 Question Id : 87827041270 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

“The historical change from tradition lo ratienality as the dominant mode of human thought.
Who amongst the following gave this perspective ?

(1} Yogendra Singh on transition of society

(2] Marc Weber on rationalisation of society

(3)  Pitrion Serokin on change

(4]  M.N. Srinivas on modernisation

Options :

878270162077. 1

878270162078. 2

878270162079. 3

878270162080. 4

Question Number : 60 Question Id : 87827041270 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

r

T A A A
() W T A A A e
(3 fifR A A 4
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Options :

878270162077. 1
878270162078. 2
878270162079. 3

878270162080. 4

Question Number : 61 Question Id : 87827041271 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

'||1||F|'|l|| 1% |.h|_' .hl'.;l-.' n.'l|' EI_uiLlﬂIEhil} i|'| I,I,']]i;'l] |]'|.:l ]-1If|i':.':]-'l|r.i':'l|'| i” gl'-_'i,]!':i':_'l'l |'|'|i.||"-]|.-l"-_! |_l|II |hl' gl'l"l,”!' nwnh-ru
is high and leaders participation is low ?

(1) Authoritarian

(2] Democrabic

(3] Dictatorial

(4] Laissez-faire

Options :

878270162081. 1

878270162082. 2

878270162083. 3

878270162084. 4

Question Number : 61 Question Id : 87827041271 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
i 7w A A o o ) 9 o TR e 9 e T o A
(1) AR
(3
(%) AR

.

(4) HEEIHTRR]
Options :

878270162081. 1
878270162082. 2
878270162083. 3

878270162084. 4

Question Number : 62 Question Id : 87827041272 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The classiheation of EIOUP processes in four categories namely basic, structural, locomotive and
molar are sdentified by :

(1] Toseland and Rivas

(2] Trecker

(3] Douglas

4] Ronapha

Options :

878270162085. 1

878270162086. 2

878270162087. 3

878270162088. 4

Question Number : 62 Question Id : 87827041272 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

7 47 A SR, ST, FeE AR A § S e A ) e e
Bk
(1) s N T

|2}

(3 STEH
[4) EHAH
Options :

878270162085. 1
878270162086. 2
878270162087. 3

878270162088. 4

Question Number : 63 Question Id : 87827041273 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Community nrﬂﬂl'ﬁﬂ.‘lliﬂn as a macro method does not refer to -
(1) a field for experimentation

(2) an area development action programme

(3) amethod of working with people

(4) meeting the needs of community people through collective action.
Options:

878270162089. 1
878270162090. 2
878270162091. 3

878270162092. 4

Question Number : 63 Question Id : 87827041273 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

o

U Jed UGl ok ¥ GEias gued & anm fefeien § 9 i 17
(1) e &

(2) U i fawm e wrEn

(3) S F HY FE FE w TS0

(4)  HfEE BN & AN ® REEE F A = aEvrsEms g
Options :

878270162089, 1

878270162090. 2

878270162091. 3

878270162092. 4

Question Number : 64 Question Id : 87827041274 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The rale of the enabler in commumaty organsation focusses on ;

(1] Helping the people tovoice their discontent leaving them to solve their problems

(2} Helpmyg the people to vouce thar concem

(3] Helping the people to organise around similar problems

(4) H-:=}]1mg p-nph- | understand and amalyvse ther ]wl'-lrm. EnCOUrage mobalisation, enhance
cl'u]u'mtil‘-n and focus on common objectives

Options:

878270162093. 1
878270162094. 2
878270162095. 3

878270162096. 4

Question Number : 64 Question Id : 87827041274 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Rl WA § A (R # o e st i g
(1) 7 T A = e A o T e e o gt
(3) I ] T TR H A A T e e

() T A F A A T e w5 v 6, A e o, T
A 4% A T W A i F
Options:
878270162093. 1
878270162094, 2
878270162095. 3

878270162096. 4

Question Number : 65 Question Id : 87827041275 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Social action is broadly considered as a -
(1) Violent action

(2) Punitive action

(3) Concerted action

(4) Destructive action

Options:

878270162097. 1

878270162098. 2

878270162099. 3

878270162100. 4

Question Number : 65 Question Id : 87827041275 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

grfarers foram =t Hie § 9 | ST € e

(1) Tegek o

(2) <eTeHE R

(3) HgE e

(4) TaeaTrHE R
Options :

878270162097. 1
878270162098. 2
878270162099. 3

878270162100. 4

Question Number : 66 Question Id : 87827041276 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Conscientisation appmach in social achon is :
(I) Providing services

(2) Praxis

(3) Organisation of Masses

(4) Undertaking research studies
Options:

878270162101. 1
878270162102. 2
878270162103. 3

878270162104. 4

Question Number : 66 Question Id : 87827041276 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

qrTfsTeR faram § <ieT SR SO €
(1) Serd 98 L
(2) AT

(3) Al T HSA
(4) WY AT FLA

Options :

878270162101. 1
878270162102. 2
878270162103. 3

878270162104. 4

Question Number : 67 Question Id : 87827041277 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

“Do you get along well with your parents 7" The question is an example of :
(1) Value loaded question

(2) Coentingency gquestion

(3) Malrix question

(4) Double-bamreled question

Options :

878270162105. 1

878270162106. 2

878270162107. 3

878270162108. 4

Question Number : 67 Question Id : 87827041277 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

"1 AT % WY STk HaY WER ¥ 2 9% WA foRueR UF IEre €7

(1) d¢ dree 9
(2)  ERFETRAT 9
(3) Higw we

(4) TIA-ITE TH
Options :

878270162105. 1
878270162106. 2
878270162107. 3

878270162108. 4

Question Number : 68 Question Id : 87827041278 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is not an example of non-probability sampling ?

(1) Quota sampling

(2) Cluster sampling

(3) Snowball sampling

(4) Purposive sampling

Options:

878270162109. 1

878270162110. 2

878270162111. 3

878270162112. 4

Question Number : 68 Question Id : 87827041278 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



freferfaa & | H-—91 TR-dyrerar gfa=a= &1 U 3200 T € ?

(1) i gfa=gH

(2) =TT Hfd=RE

(3) @ ufd=EA

(4) SrEEvEY wiaeE
Options:

878270162109. 1
878270162110. 2
878270162111. 3

878270162112. 4

Question Number : 69 Question Id : 87827041279 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is not a key aspect of the Qualitative research ?

(1) Generating hy pothesis

(2) Inductive logic

(3) Subjectivity

(4) Deductive logic

Options :

878270162113. 1
878270162114. 2
878270162115. 3

878270162116. 4

Question Number : 69 Question Id : 87827041279 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frefafea § 4 -1 TR STEEE 1 U WS Yed T6l € 7
(1) afEReTHr fHaio
(2) HATTHATHE Tk

(3) SAfFfT=T
(4) TITHAHE TF
Options:

878270162113. 1
878270162114. 2
878270162115. 3
878270162116. 4

Question Number : 70 Question Id : 87827041280 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Which of the following explains the ‘mverse’ relationship between two variables ?
(1) The relationship between variables changes at certain levels
|2)  Both variables move in the same direction
(3} There i no change in the direction of the variables
(4) One variable increases, the other variable decreases
Options :
878270162117. 1
878270162118. 2
878270162119. 3

878270162120. 4

Question Number : 70 Question Id : 87827041280 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frefafes & & - <1 =i % == wfaeim’ geiy sam 22
(1) = % &= 99y Hfaud & W/ 95eTdl & |
) S =R e werd €
(3) =R =K feen | 1S sEes e B
) ek O 9%l B, TEU W el 2

Options:

878270162117.1
878270162118. 2
878270162119. 3

878270162120. 4

Question Number : 71 Question Id : 87827041281 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

In component of Administration (POSDCoRB), Co stands for
(1) Collaboration

(2] Co-operation

(3) Cop-ordination

(4) Collateral

Options :

878270162121. 1

878270162122. 2

878270162123. 3

878270162124. 4

Question Number : 71 Question Id : 87827041281 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TS o H2hi (MSfoge! efisme) § f st swmades

(1) weEm
(2) HEHR
(3) HHHEI
(4) e
Options :

878270162121. 1
878270162122. 2
878270162123. 3

878270162124. 4

Question Number : 72 Question Id : 87827041282 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who said that the study of admimstration deals with Men, Material and Method ?
(1}  Luther Gullick

(2] Tavlor

(3] MGERoss
{4} Henry Fayol
Options :

878270162125. 1
878270162126. 2
878270162127.3

878270162128. 4

Question Number : 72 Question Id : 87827041282 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



o T o o WO ) e T (), we () o Sl (daEw) & wEiE D

Options:

878270162125. 1
878270162126. 2
878270162127.3

878270162128. 4

Question Number : 73 Question Id : 87827041283 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The charitable agencies are registered under :

(1) Section 12 of Indian Company Act 2013

(2) Societies Registration Act, 1860

(3) Societies Registration Act, 1960

(4) Section 12 of Indian Company Act, 2014

Options :
878270162129. 1
878270162130. 2
878270162131. 3

878270162132. 4

Question Number : 73 Question Id : 87827041283 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



IR AT i F FHA & siafa dsiied e € ?
(1) 9RA™ HY SA4FgT 2013 & 9/ 12

(2) HrEES YSiEw SAfufTEE, 1860

(3) HrERA Teiiew A, 1960

(4) WA O SfufEm 2014 1 910 12

Options:

878270162129. 1
878270162130. 2
878270162131. 3

878270162132. 4

Question Number : 74 Question Id : 87827041284 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is not a function of social wellare administrator 7
(1) Auditing of allocated tund for programes

(2)  Programme Flanning and development

(3) Programme Evaluation and monitors

(4) Respurce allocation and managemeni

Options:

878270162133. 1

878270162134. 2

878270162135. 3

878270162136. 4

Question Number : 74 Question Id : 87827041284 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



fefafiea § | 19 91 999 HeaTo 9InEsE &1 FE A9 8 2
(1) kA & ford g gamE &1 sfee

(2) HrEIHA AeH wd fawm

(3) HIEHH HeAiEwA TE HiHRi

(4) HHEA faqo wE gayH
Options:

878270162133. 1
878270162134. 2
878270162135. 3
878270162136. 4

Question Number : 75 Question Id : 87827041285 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

.-'-.mmlr.k; o the demographic transition mode and the five stages of development, India is in the
stage,

(1) Second
(2} Third
(3} Fourth
(4) Filth
Options :
878270162137. 1
878270162138. 2
878270162139. 3

878270162140. 4

Question Number : 75 Question Id : 87827041285 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(1) faf
()
()

(4) LEL

g

Options:

878270162137. 1
878270162138. 2
878270162139. 3

878270162140. 4

Question Number : 76 Question Id : 87827041286 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The third five-year plan in India was introduced in _
(1) 1963 - 1968

(2) 1962 - 1967

(3) 1961 - 1966

(4) 1960 - 1965

Options :

878270162141. 1

878270162142. 2

878270162143. 3

878270162144. 4

Question Number : 76 Question Id : 87827041286 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



IR | T deauig FISHT 1 HIEEE B 91 ¢ 7
(1) 1963 - 1968

(2) 1962 - 1967

(3) 1961 - 1966

@) 1960 - 1965

Options:

878270162141. 1

878270162142. 2

878270162143. 3

878270162144. 4

Question Number : 77 Question Id : 87827041287 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

As per Human Development Report 2023, India ranked at _ posibion,
(1) 132

(2) 142

(3) 130t

() 131%

Options :

878270162145. 1
878270162146. 2
878270162147. 3
878270162148. 4

Question Number : 77 Question Id : 87827041287 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Aa T fTdiE 2023 % 9K, Y i ferfd s € 8 2
(1) 132 =

(2) 14274

(3) 130 i

(4) 131
Options:

878270162145. 1
878270162146. 2
878270162147. 3

878270162148. 4

Question Number : 78 Question Id : 87827041288 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Who has developed the Biological model of social development ?
(1) Hawkins

(2) Sutherland

(3) Farrington

(4) Urie Bronfenbrenner

Options :

878270162149. 1

878270162150. 2

878270162151. 3

878270162152. 4

Question Number : 78 Question Id : 87827041288 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



grfster faerm o Sifass uiea =1 foras fassfaa feam an?

(1) =@eFH

(2) T

(3) e

(4) T FAAHTSAT
Options:

878270162149. 1
878270162150. 2
878270162151. 3
878270162152. 4

Question Number : 79 Question Id : 87827041289 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

"The Poverty is more than & financial problem, 1t is akso a problem of individual mastery, dignity,
and self esteem.” This statement s made after conducting studies on helpless-ness by .

(1}  Abhijit Banerjee

(2]  Amaritya Sen

(3] Seligman

(4] ['Il'!Lrjllu

Options :

878270162153. 1

878270162154. 2

878270162155. 3

878270162156. 4

Question Number : 79 Question Id : 87827041289 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



“Fre fem e E A9 e 81 7 A oo, e AN S Aem A R e el
Ir*lfr-:!ésﬂrfl T iH FAF A7 T FH f.q_—,:q fT-IT q7

(1) e 77

@) & H

Options:

878270162153. 1
878270162154. 2
878270162155. 3

878270162156. 4

Question Number : 80 Question Id : 87827041290 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
"Bqual right of men and women (o adequate means of Tivelihood” is one of the priciples of pelicy
to be followed by the State for securing :

(1} Social justice

(2] Moral fustice

(3] Economic justice

(4]  Poltical justce

Options :

878270162157. 1

878270162158. 2

878270162159. 3

878270162160. 4

Question Number : 80 Question Id : 87827041290 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
fERiimife  mfmaw

|.]:' HHE[F 5

Options :

878270162157. 1
878270162158. 2
878270162159. 3

878270162160. 4

Question Number : 81 Question Id : 87827041291 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
The punisprudential doctrine of "distnbutive justice” is being embodied m the ;
(1)  Article 38 and 39

(2)  Arhicle 14

(3]  Article 43-A

(4] Arlicle 256

Options :

878270162161. 1

878270162162. 2
878270162163. 3

878270162164. 4

Question Number : 81 Question Id : 87827041291 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
e =g’ o fafuemefta fogia fea ergs=ee # fAfea 8 2
(1) =T 38 3R 39

(2) HT=3% 14
(3) HT™T 43-A
(4) =T 256
Options :

878270162161. 1
878270162162. 2
878270162163. 3

878270162164. 4

Question Number : 82 Question Id : 87827041292 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
The term management by ohjectives (MBO) usually refers to ;

(1) Behaviorally Anchored rating scale
) Multiple step up company wide goal-setting and appraisal programme
i

i1

(2
(3) Supervisor's narrative assessment of the employees
(4) Critical incident method

Options :

878270162165. 1
878270162166. 2
878270162167. 3

878270162168. 4

Question Number : 82 Question Id : 87827041292 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



QT $Eevd U YeiuE (wm.E.el,) ug frefafes § defua € -
(1) =HEerRTd e e

(2) WA WY Y HH] o SAT9F 8T U UF gedie FEwH
(3) A = WA % iR § g

(4) sHifaeR e fafy

Options:

878270162165. 1

878270162166. 2

878270162167. 3

878270162168. 4

Question Number : 83 Question Id : 87827041293 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which one of the following is not a type of mental retardation ?
(1) Border line mental retardation

(2) Hair line mental retardation

(3) Moderate mental retardation

(4) Profound mental retardation

Options :

878270162169. 1

878270162170. 2

878270162171. 3

878270162172. 4

Question Number : 83 Question Id : 87827041293 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frefefiaa § & wfaes 5T o1 Werr i |1 e €7
(1) HHrTE HHEMEE Hed
) Y HAfEE Hed
(3) HH HHEMEE Hed
) T AETEeE Hed
Options:
878270162169. 1
878270162170. 2
878270162171. 3

878270162172. 4

Question Number : 84 Question Id : 87827041294 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

As per the section 11(4) of the POSH Act 2013, what & the stated time line for Internal complaint/
Local comphaint commuttee {ICC & LCC) to complete the enguiry ?

(1} Within 30 days

(2] Within 60 days

3] Within %) days

(4] Within 45 days

Options :

878270162173. 1

878270162174. 2

878270162175. 3

878270162176. 4

Question Number : 84 Question Id : 87827041294 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



1 T Frarm affem (9 & W ) 2003 % 4R 1) F SR A e S
forram i (9 4 O ) F A W e e
) 0T g
() 60 F &=
(3 90 F s
(W) 457 F
Options :
878270162173. 1
878270162174. 2
878270162175. 3

878270162176. 4

Question Number : 85 Question Id : 87827041295 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Which one of the following is not a step of the process of job analysis ?

(1) Performance Appraisal

2)  Selection of job

ES) Gather information about job
(4) Job description

Options :

878270162177.1

878270162178. 2

878270162179. 3

878270162180. 4

Question Number : 85 Question Id : 87827041295 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



14 faveru =1 uferar = 9oH Fefafea d A sF m g 2 2

(1) T=Ed geaishd
(2) HE-TTT
(3) WA % HIH H GIAAT THET FHAT
(4) T Taarm
Options:

878270162177. 1
878270162178. 2
878270162179. 3

878270162180. 4

Question Number : 86 Question Id : 87827041296 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which vear was celebrated as 'vear of 'prs:sbal;inn’ ?

(1) 1975
(2) 1971
(3) 1982
(4) 1989
Options :

878270162181. 1
878270162182. 2
878270162183. 3

878270162184. 4

Question Number : 86 Question Id : 87827041296 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



fafafea o 9 forg ad =t aftdien ad’ & w9 § 590 T a1?

(1) 1975
(2) 1971
(3) 1982
(4) 1989

Options:

878270162181. 1
878270162182. 2
878270162183. 3

878270162184. 4

Question Number : 87 Question Id : 87827041297 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The social work practice o coproduce transformative social change that creates a Tiving viable
earth with equitable shared and distributed resources is known an :

(1) Green social work

2] Ecological social work

(3)  Ecosocial work

(4] Environmental social wark

Options :

878270162185. 1

878270162186. 2

878270162187. 3

878270162188. 4

Question Number : 87 Question Id : 87827041297 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



BT W W 5 R ) ol AW F9 o 5 9 16 # SEE T e
T T AE I T e R eme
(1) T e
() offemER W
(3 Wh-AmEE
(4) e R
Options:
878270162185. 1
878270162186. 2
878270162187. 3

878270162188. 4

Question Number : 88 Question Id : 87827041298 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The etficacy of social defence programmes i term of protecting society against crimes, and
maintenance of social order will increase with ;

(1}  Ihe appointment of more police personnel

2] The engagement of para social workers in the inshtutions

(3] The greater participation by the public

(4]  The inclusion as one of the Lask of Sustanable Development goals
Options:

878270162189. 1

878270162190. 2

878270162191. 3

878270162192. 4

Question Number : 88 Question Id : 87827041298 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Rt sl o 11 TR i B B e [ ) R o

(1) afieF o i %1 Frf

(2] Fe -l FEsaE # g

(3) S TR

() R e e U TR A o R A
Options :

878270162189. 1

878270162190. 2

878270162191. 3

878270162192. 4

Question Number : 89 Question Id : 87827041299 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The Gaia Hypothesss, claim that planet earth it selt should be een & a lving organism, mside
which humars and other species each have a vital part to play. [t was propounded by .

(1) Lesna Dominellie

(2] Jame Lovelock

(3] R I Singh and Neera Agnimitra

(4] E K Pachoun

Options :

878270162193. 1

878270162194. 2

878270162195. 3

878270162196. 4

Question Number : 89 Question Id : 87827041299 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T R S A § T O T R U A 02§ R A e s S
YA 3T 9 e B YR A Ty v v 1 S v R e
(1)

() R

(%) W A T S A i
() & F

Options :

878270162193. 1
878270162194. 2
878270162195. 3

878270162196. 4

Question Number : 90 Question Id : 87827041300 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which one of the following is not a model of social action ?
(1) Elitist Model

(2) Pup'ular Model

(3) Legislative Action Model

(4) Locality Development Model

Options :

878270162197. 1

878270162198. 2

878270162199. 3

878270162200. 4

Question Number : 90 Question Id : 87827041300 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frefafge o 4 % gmmfss fFa & afed 72 € 2
(1) sAfYsTegemsr \iee

(2) IR GE HiEgd

(3) faurh w@ Asa

(4) TIHE fosg wied

Options :

878270162197. 1
878270162198. 2
878270162199. 3
878270162200. 4

Question Number : 91 Question Id : 87827041301 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Values can be distinguished from :

(A) facts

(B) mneeds

(C) rights

(D) ideologies

Choose the correct answer from the options given below :
(1) (A)and (B) Only

(2) (A), (B) and (C) Only

(3) (B), (©) and (D) Only

4) (A), (B), (C) and (D)

Options :

878270162201. 1
878270162202. 2
878270162203. 3

878270162204. 4



Question Number : 91 Question Id : 87827041301 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
i & frfafea & fu=1 omn s geka € -
(A) 99
(B) eI
(C) AIHR
(D) Tor=meEmg
A= fou 7 fasredi § | & I =94 Hie0
(1) ¥ (A) &R (B)
(2 FAF (A), (B) R (C)
(3) %= (B), (C) ¥R (D)
4) (A), (B), (O) 3 (D)
Options :
878270162201. 1
878270162202. 2
878270162203. 3

878270162204. 4

Question Number : 92 Question Id : 87827041302 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The code of ethics developed by NASW/NAFSWI provides :
(A) respect for the fundamental values of social work profession
(B) guide for social workers’ conduct and adjudication of ethical issues
(C) ways of working in term of methods and technigques

(D) & guide for professional role and relationship at various levels

(E) basis for the adjudication of methodelogical issues

Choose the correct answer from the options given below :
(1)  (A), (B) and (C) Only

(2) (A), (B) and (D) Only

(3) (B), (D) and (E) Only
(4) (), (C) and (E) Only
Options :

878270162205. 1
878270162206. 2
878270162207. 3
878270162208. 4

Question Number : 92 Question Id : 87827041302 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T T TH T R T S S AT T T Hiea H frefatan weeE R
(A) T F S F i ge i T A

(B) W T o ST & forn ol o w5 & mm-fi o o o wwier
(C) Wl A% FE0E & 9 H w w F

(D) =T i i fafim @ ga # fi o i

) a5 70 & - Fies F R e

F fom o e o 0 Wl F T A

(1) % (), (B) 3 (C)

(2) = (A), (B) A (D)

(3) % (B), (D) 9 (E)

@) (B), (C) W)



Options :

878270162205. 1
878270162206. 2
878270162207. 3

878270162208. 4

Question Number : 93 Question Id : 87827041303 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The Hollis-Taylor report on social work education portrays social work as a
(A)] helping activity

(B) soccial activity

(C) liasion activity

(D) mnetwork activity

Choose the correct answer [rom the options given below :

(1) (A} (B) and {T) Only

(2)  (A), (B) and (D) Only

(3) (B), (C) and (D) Only

(4)  (A), 1C) and (Y Only

Tk

Options:

878270162209. 1
878270162210. 2
878270162211.3

878270162212. 4

Question Number : 93 Question Id : 87827041303 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



wrfors F e daedt ' Sfem-con fOR " wfas: 90 #) frefafes &9 o o €
(&) HEE T
(B) HAEF AT
(C) Wk AR
(D) =% TR
AT fau U Terketl O 0 W I ) w9 wi
(1) & (A), (B) 31 (C)
(2) & (A), (B) ST (D)
(3) @A (B), (C) (D)
(4)  (4), () #R(D)
Options:
878270162209. 1
878270162210. 2
878270162211. 3

878270162212. 4

Question Number : 94 Question Id : 87827041304 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which among the folkowing are not dominant part of feminist social work ?

4] Recognising the diversity of women

[B) Considering women as passive agents mcapable of making decisions tor themsebves in all
aspects of therr lives

(€} Providing women with the space to voice their own needs and solulions to problems

(D Acknowledging the principles ‘the personal is political’ is relevant at macro, mise and micro
levels of practice

[E] Recogmising that woman's individual problems are private and personal
Choose the correct answer from the options given below :

(1] (B} and {C] Only

(2] {C}and (E) Only

(3 (B and (E) Only

{4} (B, (C) and (E) Cnly

Options :

878270162213. 1

878270162214. 2

878270162215. 3

878270162216. 4

Question Number : 94 Question Id : 87827041304 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



i 5 % 28 AT Al A o1 W o

(A) et # fafae 9 T ET

(B) el 9 g sl W R e T e o v & fw Pl o o s €

(C) ieEma 3 A e ) T AR e F TR T A R R

(D) % T ¥ ' S A T 0 o F A, v T O o 6
7l

(F) 7 W s Wil &1 wafe e P o st g |

7 fon o foredt A Wl I W 9 A0

(1) % () )

() & (C) 3 (E)

(%) = (B) W (E)

([4) = (B), (C) 3W(E)

Options :

878270162213. 1

878270162214. 2

878270162215. 3

878270162216. 4

Question Number : 95 Question Id : 87827041305 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A bio-psycho-social approach focusses on :

(A) Physical causes and treatment

(B] Tradiional medical model

(C) Interrelationships between Physical, Psychological and Social functioning
(D} More holistic perspective on health

Choose the correct answer from the options given below ;

(1) (A), w]. and (C) Only

(21 (A), (1C) and [[TJ Only

3] (8], {c_] and (D) Only

(4) (A) and (B} Only



Options :

878270162217. 1
878270162218. 2
878270162219. 3
878270162220. 4

Question Number : 95 Question Id : 87827041305 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Sfaer-waree—amiess sarm = & & foa 9 wieg ot &2
(A) W FRF 9 TR
(B) HURufw fafwedia wisa
(C) IHREF—WAEeR o | Tkl & e o SHdgay
(D) e Wt s1fues Tuy uihe
= fou o faskedi © § W@ SO o =94 ST
1) a4 (A), (B) 3R (C)
) HaA (A), (C) (D)

(3) = (B), (O) 3 (D)
) A (A) 3T (B)

Options:

878270162217.1
878270162218. 2
878270162219. 3

878270162220. 4

Question Number : 96 Question Id : 87827041306 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which are examples of the defence mechanism ?
(A) Repression

(B) Rationalisation

(C) Regression

(D) Reductionism

(E) Reaction formation

Choose the correct answer from the options given below :
(I) (A), (B), (C) and (D) Only

(2)  (A), (B), (C) and (E) Only

(3) (B), (C), (D) and (E) Only

(4) (A), (B), (D) and (E) Only

e

Options:

878270162221. 1
878270162222. 2
878270162223. 3
878270162224. 4

Question Number : 96 Question Id : 87827041306 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

&1 ek o 3qTe0 i 9 € ?
(A) <HA

(B) ferciehtantm

(C) wfaTHe

(D) SAIFHAR

(E) wfdfran-faum

= fou U fowedl § § Q@ I H 999 BT
(1) = (A), (B), (O) ¥R (D)

(2) Fd (A), (B), (O) 3R (E)
(3) Faa (B), (C), (D) &R (E)
(4) d (A), (B), (D) 3R (E)



Options :

878270162221. 1
878270162222. 2
878270162223.3
878270162224. 4

Question Number : 97 Question Id : 87827041307 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following are not principles of case work ?
(A) Principle of Individualisation

(B) Principle of self-determination

(C) Principle of Orientation

(D) Principle of Non-judgmental attitude

(E) Principle of program planning

Choose the correct answer from the options given below :
(1) (A), (B) (C) and (E) Only

(2) (B), (O) and (D) Only

(3) (C) and (E) Only

(4) (D) and (E) Only

Options:
878270162225. 1
878270162226. 2

878270162227.3

878270162228. 4

Question Number : 97 Question Id : 87827041307 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frefafes § 9 $R-3 Safaas 9 F fogia =& &2
(A) afameRTeT = fagid

(B) ATy = fugid

(C) fvEierTo =1 fosid

(D) TR-Torrs sifigfa 1 fagia

(E) sk arsH 1 fagia

= feu o foredi § 9 98 39T &1 =994 e
() e (A), (B), (O) 3T (E)

(2) FFA (B), (C) 3R (D)
(3) e (C) 3 (E)
(4) FF (D) I(E)
Options:

878270162225. 1
878270162226. 2
878270162227. 3
878270162228. 4

Question Number : 98 Question Id : 87827041308 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following commonly seen behaviours over in response to anxiety ?
(A) Swearing

(B) Using abusing Language

(C) Cursing

(D} Crying

() Laughing

Choose the correct answer from the options given below :
(1) (A}, (B) and (C} Only

(2} (A)and [C) Only

(3) (D), (C) and (A) Only

@ (A), (B), (C), (D) and (B



Options :

878270162229. 1
878270162230. 2
878270162231.3
878270162232. 4

Question Number : 98 Question Id : 87827041308 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

gfoEd % oy frefafes O 9 @9 9 R 9meE: 39 2 €2
(A) T S

(B) I~ =l W1l
(C) <e=Hl = JAM Tl
(D) Taeam

() w5

9 feu o foepedi § © WE IOF H 9 e
(1) = (A), (B) 3 (C)

() e (A) R (Q)

(3) e (D), (C) R (A)

(4) (A), (B) (O, (D) ¥ (E)

Options:

878270162229. 1

878270162230. 2

878270162231. 3

878270162232. 4

Question Number : 99 Question Id : 87827041309 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

The important components of community work are :

(A) The target population

(B) Groups within communities

(C) Informal leaders of the communities

(D) Resources

(E) Interaction

Choose the correct answer from the options given below :

(1) (A), (B) and (C) Only
(2) (B), (C) and (D) Only
(3) (O), (D) and (E) Only
(4) (A), (B) and (E) Only
Options :

878270162233, 1

878270162234. 2

878270162235. 3

878270162236. 4

Question Number : 99 Question Id : 87827041309 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

qicIash T o Weequl BZeF 39 YR ©
(A) T SEEE

(B) HUSH % ¥R HHYE

(C) HHSME o M =l

(D) HHEF

(E) 3= e

49 feu o fawedi § 9 WE SO & =999 Fife ;
(1) % (A), (B) 3R (C)

(2) FaA (B), (C) ¥R (D)

(3) % (C), (D) 3R (E)

(4) A (A), (B) 3R (E)



Options :

878270162233. 1
878270162234. 2
878270162235. 3
878270162236. 4

Question Number : 100 Question Id : 87827041310 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The principles of community work practce given by FLY, Sddiqui, especially for Indian confext
dle |

[A) The Principle of democracy and welfare

[B) The Principle ol specilic objectives

(C) 1he Principie of planning

(D) The Principle of people’s participation

(] The Principle of social welfare programme
Choose the correet answer [rom the options gven below :
(1) (A}, (B)and |C) Only

(2} (C). (D) and (E) Onlv

3 (B}, (C) and (D) Only

(4) (B} (D) and (E) Only

Options:
878270162237. 1
878270162238. 2

878270162239. 3

878270162240. 4

Question Number : 100 Question Id : 87827041310 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T4, K. g oW e o we F e o e, fan w9 F g s, E
(A] TS A FEm 9 fagi

B) fafre =awl = fgin

(C) A fagi

(DY) F- iR 1 g

(E) HHTeF FoAm FEn # ug

4 fou ol O O W S R A

(1) & (A), (B) FT(C)
2) #A&= (C), D) ¥ (E)
(3) %AW (B), (C) & (D)
4) 7 (B), (D) 4R (E)
Options:
878270162237. 1
878270162238. 2
878270162239. 3
878270162240. 4

Question Number : 101 Question Id : 87827041311 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In Concretization model of social action :

(A) People mobilize resources for themselves

(B) People make efforts to educate themselves

(C) People create awareness among masses

(D) People liberate themselves from structural bonds
(E) People organize recreational activities

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

() (B), (O and (D) Only

3) (C€), (D) and (E) Only

(4) (B, (D) and (E) Only



Options :

878270162241. 1
878270162242. 2
878270162243. 3

878270162244. 4

Question Number : 101 Question Id : 87827041311 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
qrTferes 1 & =T ST Higd 1
(A) TN 39 TAT HHIEA T2 © |
(B) @I 3194 = Furfara s o 9aTE X B
(C) I ST o S STEehal Ul ohid € |
(D) <M danTd SuE § W F e H E
(E) <M WANSH % fRarRam saifed 3 € |
= feu o fasedi #§ € WE SO &1 999 HIT
(1) &9 (A), (B) 3 (C)
(2) %9 (B), (C) 3 (D)
(3) %= (C), (D) 3 (E)
(4) 9 (B), (D) 3 (E)

Options:

878270162241. 1

878270162242. 2

878270162243. 3

878270162244. 4

Question Number : 102 Question Id : 87827041312 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Which of the following statements are correct about Life Hstory Method of research ?
A) It isa Qualitative method of inquiry
B) Itisa Quaniitative method of myuiry

|
{
(C) 1t aims to shudy the significant events and meanings in the Irves of people
(D) It isa qualitative inferviewing method

(E) It aims at in-depth examination of single phenomenon

Choose the correct answer from the oplions given below :

1) (D) and (E) Only

=

g |
——r

{

(2) (B) and {C) Only

(3 (B), (C) and (D) Only
(4) (A), (C) and (D) Only
Options :
878270162245. 1
878270162246. 2
878270162247.3

878270162248. 4

Question Number : 102 Question Id : 87827041312 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frerfafaa & 9 -8 FUF FH9H 1 Siea-99 Tgfa F a8 o ad #2
(A) 7% gl & e TEh 7 |

(B) e Wfg=sn &I U UROmeE Ui ¢

(C) =& @Ml & g &1 Teeyol Tl iR ol o s R afem €
(D) I8 T Ve Sfaaien I5fd ¢

() TUH T UFHE ST Fl TRE W G FA L

= feu o fomredi § 9 W& 39 T 99 Hifo
(1) 9 (D) ¥R (E)

(2) %94 (B) 3R (C)

(3) a4 (B), (C) ¥R (D)

(4) FFE (A), (C) ¥R (D)

Options:

878270162245. 1
878270162246. 2
878270162247. 3

878270162248. 4

Question Number : 103 Question Id : 87827041313 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are correct about "Positivism’ approach in social science
research !

(A) Tt emphasizes on the use of scientific methods of inquiry
[B) It emphasizes on singular realil

(C) It bocuses on locating meaning making by the subjects
(D) It stresses on value-neutrality

(E) It stresses on the subjectivaty of the researcher

Choose the correet answer [rom the options grven below :

(1) (A}, (B) and (D) Only

2) (A}, (B) and (E) Only

(31 (A} (B) and {C) Only

[4) (), (D) and (E) Only

Options:
878270162249. 1
878270162250. 2

878270162251. 3

878270162252. 4

Question Number : 103 Question Id : 87827041313 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



et foa A o gererre So & an F freifofen § 4 $5-9 S W )
(A) TE T 3 A1 T & FA T W W e
B) T TF T WA G

(C) % SRS G TS MU S o O e T B
(D) % T3 -7 W AN W

(E) 7% Sk % AT TS g

4 fou ol O O W S R A

(1) &3 (A), (B) F(D)

) F& (A), (B) W (E)

@) = (4), (B) #T(C)

4) A (C), (D) 3 (E)

Options:

878270162249. 1

878270162250. 2

878270162251. 3

878270162252. 4

Question Number : 104 Question Id : 87827041314 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Choose the correct option in relation to Social Welfare Administration :
(A) Social Welfare Administration is an Art

(B) Social Welfare Administration is a Science

(C) Social Welfare Administration is a Legislation

(D) Social Welfare Administration is a Discipline

Choose the correct answer from the options given below :

(1) (A), (B)and (D) Only

(2)  (A), (B) and (C) Only

(3) (B), (C) and (D) Only

(4 (A), (B), (C) and (D)

Options :



878270162253. 1
878270162254. 2
878270162255. 3

878270162256. 4

Question Number : 104 Question Id : 87827041314 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
TSR SFeaTr WO & Gael o W&l fosmey @ i .
(A) TS FHedmT T UF Fell ¢ |
(B) WTHITSTER SheaTdl FOEA Wk foam & |
(C) TrIfeTeh FHedmT U U faum g
(D) TTHITSE FHeAT] JIATEH Ueh ST © |
e feu 7o fowedi § 9 We SO o 999 FHife
(1) & (A), (B) 31 (D)
(2) A (A), (B) 3R (C)
(3) %= (B), (C) (D)
4) (A), (B), (O) FI(D)
Options :
878270162253. 1
878270162254. 2
878270162255. 3

878270162256. 4

Question Number : 105 Question Id : 87827041315 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Following are the statutory requirements for the Wellare Organization for receiving donations
from the public ;

(A] Permanent Account Number (PAN)

(B) Tax Deduction Account Number (TAN)

(€} 12Aand 8 G of the IT Act

(D) 80C of the IT Act

Choose the corvect answer from the options gren below ;
1) (8),(8)and D) Only

(2] (B}, (C) and (D) Only

(3} (A} and (B) Only

4 (A}, {B) and {C) Only

Options:

878270162257. 1

878270162258. 2

878270162259. 3

878270162260. 4

Question Number : 105 Question Id : 87827041315 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
S | g o % ford wen ge § frefafaa gifafies e €
(A) THMHZ R el ()
(B) TR F2Id! @l & (I W)
(C) Rt afufm =1 12 T 37 80 i
(D) FeRT SR *1 80 Hi
A fau U forredi W 9 W@ I T FHIT
(1) 9 (A), (B) 3 (D)
(2) a4 (B), (C) 3R (D)
(3) FFWA (A) 3 (B)
(4) 9T (A), (B) 3R (C)

Options :



878270162257. 1
878270162258. 2
878270162259. 3

878270162260. 4

Question Number : 106 Question Id : 87827041316 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Following are the approaches to sustainable development :
(A) Appraisal of the environment

(B) Natural Resources Accounting

(C) Government Policies and Economic Outlook

(D) Evaluation of Decent Work

Choose the correct answer from the options given below :
(1) (A), (B), () and (D)

(2) (B), (C) and (D) Only

(3) (A), (B) and (D) Only

(4) (A), (B) and (C) Only

Options :

878270162261. 1

878270162262. 2

878270162263. 3

878270162264. 4

Question Number : 106 Question Id : 87827041316 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



frfafee Sdmir fawm & 39w 2
(A) TITETO SR
(B) UTRfdeR SHIMAl 1 eRgihA
(C) TTr Fifear oir enfefe ufige
(D) Te&= & & gedisd
i< feu U foeredi § 9 W& Sa% & 999 Hi
(1) (A), (B), (O) 3R (D)
(2) %9 (B), (C) 3R (D)
(3) ¥ (A), (B) IR (D)
(4) 9@ (A), (B) R (C)
Options:
878270162261. 1
878270162262. 2

878270162263. 3

878270162264. 4

Question Number : 107 Question Id : 87827041317 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Social Policies are :

(A) Directives

(B) Guides

(C) Set of Principles

(D) Plans of Action

(E) Collective Strategies
Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only
(2) (B), (C) and (D) Only
3) (C), (D) and (E) Only
(4) (A) (B), (), (D) and (E)

Options :



878270162265. 1
878270162266. 2
878270162267. 3

878270162268. 4

Question Number : 107 Question Id : 87827041317 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
gmTfeTeR i € ;
(A) Tadw
(B) WWiGEF
(C) Tasrai = W
(D) T A
(E) wnyfesh i
=1 feu U faeredi § § W& IO I =TI HIW
(1) = (A), (B) 3R (C)
(2) = (B), (O) 3R (D)
(3) & (C), (D) R (E)
(4) (A), (B), (©), (D) R (E)
Options :
878270162265. 1
878270162266. 2
878270162267. 3

878270162268. 4

Question Number : 108 Question Id : 87827041318 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The fundamental objective of the Panchayati Raj System s o ensure the following :
(A} Political accountability

(B] People’s parlicipation in development

(C) Democratic decentralisation

(D) Recognition as 3 tier system of governance structure
(E]  Fimancial mobilisation

Choose the correct answer from the options given below :
(1) (A), (B) and (D) Only

(1) (B), (C) and (D) Only

(3 (A), (C) and (B) Only

(4)  (A), (B), (C) and (D) Only

Options:
878270162269. 1
878270162270. 2

878270162271. 3

878270162272. 4

Question Number : 108 Question Id : 87827041318 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T TS YOGt W1 Hiforsk 3avd ST GiAfEd s © 7
(A) TSI SETace!

(B) faekra o @il &1 wrTieRY

(C) <rhdifae fasharwo

(D) WITEA ol HCEA Sl g &G YOne o ®9 H A
(E) Tor=irg Hered

<= feu o foepedi § ® & TR $1 =999 BT

(1) 9 (A), (B) 3T (D)

(2) &9 (B), (C) 3 (D)

(3) A (A), (O) R (E)

(4) A (A), (B), (C) R (D)



Options :

878270162269. 1
878270162270. 2
878270162271.3

878270162272. 4

Question Number : 109 Question Id : 87827041319 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The main aim of the Family Court Act 19664

(A) o promete conciliation in dispules relating fo marnage and family
(B} o serve speady seltlement ol dispule relating to marriage and lamily
(C] to replace Hindu Marriage Act

(D) o be represented by a legal practitioner, as a matter right, in a suit or proceeding
Choose the correct answer from the ophons given below ;

(1) (A)and (B) Only

(2) (A), (B) and {C) Only

(3} (A), {B) and (D) Only

(4) (B} and (D) Only

Options:

878270162273. 1

878270162274. 2

878270162275. 3

878270162276. 4

Question Number : 109 Question Id : 87827041319 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T e A 198 % T8 R/

(4) fooma ofen #id R T e 0
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% o o forked] 4 4 W I A R A

(1) % (4) A

2) 9 (4), (B) 4 (C)

(3) 3 (A), (B) D)

() A (B) #R (D)

Options :

878270162273. 1

878270162274. 2

878270162275. 3

878270162276. 4

Question Number : 110 Question Id : 87827041320 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What are four forms of organisational justice ?
(A) Distributive justice

(B) Informational justice

(C) Procedural justice

(D) Inter personal justice

(E) Fair process justice

Choose the correct answer from the options given below :
(1) (A), (B), (C) and (D) Only

(2)  (A), (B), () and (E) Only

(3) (B), (C), (D) and (E) Only

(4) (A), (O), (D) and (E) Only

Options :



878270162277. 1
878270162278. 2
878270162279. 3

878270162280. 4

Question Number : 110 Question Id : 87827041320 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

SRS =A™ F IR YHR 1 & ?
(A) TeaLueR s =4

(B) HEAIHF =g
(C) wfsrares: =g
(D) siadafas =™

(B) Toaeq wishanm =
i U U foaskhedi § § Wal SO ol 999 Hi9T
(1) 9 (A), (B), (O) 3R (D)
(2) T (A), (B), (O) 3R (E)
(3) & (B), (O), (D) ¥R (E)
(4) W (A), (O), (D) ¥R (E)
Options :
878270162277. 1
878270162278. 2
878270162279. 3

878270162280. 4

Question Number : 111 Question Id : 87827041321 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The social worker in correctional setting needs to passes the following addibional qualities :
|A) Interests of the delinguent

(B]  Impluence the decision of delinguent

(C) Knowledge of delinguent and criminal behaviors

(D) Skills in identifying social and pathological fackors

(E) Atttude of aceeptance of criminal behavior and readiness fo work experimentally
Choose the correct answer fram the options given below :

(1) (A}, (8) and (C) Only

@) {8) (C) and (D} Only

(3 (C), () and (E) Cnly

(4] (B, (D) and (E) Only

Options :

878270162281. 1

878270162282. 2

878270162283. 3

878270162284. 4

Question Number : 111 Question Id : 87827041321 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e famams (Afém) § arafas wefw § fre sl o o 8 f
(A) @ & fem

(B) am=m % fiv = wnfas #29 F O

(C] #=m (TIfes =aen) 9 IA

(D) TATTE 3 TfEE FE F EEE FE w5 50

(E) i seen F1 WiFh o Wi w8 w6 w5 w5 e w aieh
A f5u o fawed] 4 WE 0 1 999 i

(1) Faa (A), (B) AT(C)

(2) é‘\eaaqa] (C) 31 (D)

(3) % (C), (D) ML)

) {E*]{ D) 3 (E)



Options :

878270162281. 1
878270162282. 2
878270162283. 3
878270162284. 4

Question Number : 112 Question Id : 87827041322 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are supported by Cueer theory 7

|A) Al sexual categories are not open and they are fixed in nature,

[B) The pofarised splils hetween both the hetero-sexual and the homosexuel and the sex and
pender are challenged,

(C) Advocates that non-hetero-sexual voices need to be heard,

(D) Identity a sense of who one is - s no Jonger seen as stable or fixed,

[E] Only heteronomativity is normal and natural,

Choose the correet answer [rom the options grven below :

(1) (B (D) and (E) Only

(2) (A), (B) and (E) Only

3] (A} and (E) Cnly

(4} (B} (C) and (D) Only

Options:
878270162285. 1
878270162286. 2

878270162287. 3

878270162288. 4

Question Number : 112 Question Id : 87827041322 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) Faa (B), (D) I (E)

2) #AF (A), (B) I

(3) % (A) ¥R (L)

(4) e (B), (C) (D)

Options :

878270162285. 1

878270162286. 2

878270162287. 3

878270162288. 4

Question Number : 113 Question Id : 87827041323 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which are Child Rights related historic milestones ?

(A)  UNICEF began its work in India in 1949

(B] India ratified UNCRC in 1993

(C) UNCRC was unanimously adopted by the UN General Assembly in 1989
(D} The Protection of Children from Sexual Offences Act, was passed in 2010
(E)] India formulated its first “National Policy for Children” in 1974

Choose the correct answer [rom the options given below :

(1) (A), (B) and {C) Only

(@) (B), () and (D) Only

() (A),(C) and (E) Only

(4) (A, (B), (C) and (D) Only



Options :

878270162289. 1
878270162290. 2
878270162291. 3
878270162292. 4

Question Number : 113 Question Id : 87827041323 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T ATHE J HAAa Ul et i H5 e

(A) TP A 1949 % T | a1 F Sy fE

(B) WA 1993 7 7 U9 T A0 W F ATANE A

(C) F A T 1 TR T HErawl 7 1989 7 HeArfy 4 S
(D) TR el T AR & Hm A 2010 § T g6

(B) WA 7 1974 W A9 YEe 2 A i Tun

= fau U fommedl § € W S =9 Fi

(1) = (A), (B) 3 (C)
(2) = (B), (C) F(D)
(3) ¥ (A), (C) 31 (E)
(4) I (A), (B), (C) W (D)

Options:

878270162289. 1
878270162290. 2
878270162291. 3
878270162292. 4

Question Number : 114 Question Id : 87827041324 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Which of the following are duties of probation officer as staked in the | | Act and rules ?

|A) Prepare 5ol Investigation Report

[B] Prepare Care Plans

(€} Awoid being friend and confidante to the juvenile and chikd and be strict to gather the facts

(I} Facilitate growp counseling

[E]  Network with voluntary workers and organisations fo facilitate rehabilitation and social
integration of the juveniles or children

Cheose the correct answer [rom the options given below |

(1] (A}, (B}, (C) and (E) Oniy

2 (B) (C), (O)and (E) Only

(3 (A}, (B), (D) and (E) Only

[4) (A} (B) and (C) Only

Options :

878270162293. 1
878270162294. 2
878270162295. 3

878270162296. 4

Question Number : 114 Question Id : 87827041324 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) % (), (8], (C) & (E)

?) = (B), (C), (D) M E)

(3 (A), (B), (D) FE)

() = (A, (B) R (C)

Options :

878270162293. 1
878270162294. 2
878270162295. 3
878270162296. 4

Question Number : 115 Question Id : 87827041325 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The child’s rights adopted in the United Nations Convention on the Rights of child {UNCRC)
are ;

[A) Right to Nutrition

(B) Right o Survival

(C) Right to Protection

(D) Right to Participation

[E] Right of Recreation

Choose the correet answer [rom the options grven below :
(1) (A}, (B) and |C) Only

(2) (B}, (C) and (D) Only

(31 {C), (D) and (E) Only

(4) (B} (D) and (E) Only

Options:
878270162297. 1
878270162298. 2

878270162299. 3
878270162300. 4

Question Number : 115 Question Id : 87827041325 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



R T T Al A (7w am ) sl e afeer §
(A) S ] AR
(B) IR F AR
(C) w1 AR
(D) FEWIE F1
(E) Aie-THIE AR
4 for T fawel O O W T R 95 w0
(1) & (A), (B) #(C)
(2) <@ (B, (C) 3R (D)
(3) @ (C), D) *(E)
(4) %= (B), (D) 31 (E)
Options:
878270162297. 1
878270162298. 2
878270162299. 3
878270162300. 4

Question Number : 116 Question Id : 87827041326 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - [ with List - IL

List-1 List - 11
Model Orientation fuward helps
[A] Medical model I} Individual is considered responsible neither for the
probiem nor for its splutions
B] Compensatory model () Individual is held responsible for the problem, not
lor its selution
(C) Enligtment model () Individual is not to blame for the problem but holds
responsible for its sofution
(D) Moral model (IV] It held individuals responsible for both the problem
and its seution

Choose the correct amswer from the options grven beliw :
(1) (AHIY (BH), (CHII), (D)-(IV)

(2) (AR, (BRI, (CRl), (D)-(IV)

(31 (AT} (B, (CHI), (DHD)

) (AHIVE (BRI, (CR, {D)-0)

Options :

878270162301. 1

878270162302. 2

878270162303. 3

878270162304. 4

Question Number : 116 Question Id : 87827041326 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



el - 1 0 gl - 11 7 T
-1 - I

LI e # fem

(A) Tl e (1) 0 9 7 T F T T R e SR AE
T T F o

(B) WiiEE wEA () =i & T & fo S o 7 § A 59
T &

() am WTE (THE) (L) 5T T 3 2 e ) e L
% fom Ferd o 2

(D) e wew (V) 7% 11 ) 5w i S S, 15 fom et
TR

ﬁmﬂﬁﬂfﬂﬂgﬁ'ﬂﬁm

1) AL, (BHI), (CHI), (D-V)
(2} (AHD, (B, (CHL), (DY)
() (AR, (BlIV], {CHII, D)
4 (AHIY, B (CHI, D))
Options :
878270162301. 1
878270162302. 2
878270162303. 3

878270162304. 4

Question Number : 117 Question Id : 87827041327 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL

List - 1 List - II

Sociologist Thoughts
(A) Pierre Bourdier (I)  Collective moral beliefs
(B) Roy Bhaskar (I)  Structuration theory
(©) Anthony Giddens (L) Reflexive Sociology
(D) Durkieim (IV) Critical realism

Choose the correct answer from the options giv en below :

(1) (A)-), (BHIV), (O-1D), (D)-(0)

(2)  (AHLV), (B)(IL), (O1D), (D)-{O)
(3) (A1), (B)-(1), (O-(I0), (D)-{IV)
@) (A1), B)-0), (O-1V), (D))

Options :

878270162305. 1
878270162306. 2
878270162307. 3

878270162308. 4

Question Number : 117 Question Id : 87827041327 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T - 1 o e - 11 1 e s

T -1 et - 1
HRTSTTEAT feram
(A) T wifEs () Hnyies Sfae favam
(B) T R (Ily wraTeEE (EFm) b
(C) Al e (Il SAErEF (R )
(D) @M (1V) AEAAEE Fear
a4 feu 7o foereal € B | S 1 9 it

(L) (AR, (BHIV), (CHID), (D)-(1)
(2)  (A){IV), (B)-{IM), (Cy-(II), (D))
(3) (A, B, (1), (D)-v)
() (AHI, B, (OHIV), (D)

Options :

878270162305. 1

878270162306. 2

878270162307. 3

878270162308. 4

Question Number : 118 Question Id : 87827041328 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - [ with List - 11,

List - | List - 1]
|A] Task groups 1] Collactive action and planned change efforts lo alter
social or physical envisonment
[B] Sociokization Groups (0} Used to find solutions to organisational problems, to
generate new ideas
(C) Social Action Group () Helpmembersleamsocial skills and sociallvaccepted

behaviour pattems
(D] Therapy Groups (V) Help members change behaviour to cope with
personal problems
Choose the correct answer [ram the optinas grven below :
(1) (AHL, (B-IV), (L), (DL
(20 (AR, (B}IV), (CKT), D)
(3] (AHI), (B, (C)-0), (DY)
) (AHIV), (BRI, (CHI, (D)
Options:
878270162309. 1
878270162310. 2
878270162311. 3

878270162312. 4

Question Number : 118 Question Id : 87827041328 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



el - 1 0 gl - 11 7 T
-1 - I

(A) FR-TF 1) =ies 71 i amem 3 awe & o A
TS i T v T

(B) W W (1) HEE S F o S O A R
5 I fFm

() Amfe fwm o (L) FEEE = WA B 8 e w9 wE
R F % e § i A

) fafrem w5 (IV) Tewl %) oen Wae &0 4 =imm seena 1
feA i e o B

A4 T30 7O foRe W A TR S 99 e

(1) (A, (B)-IV), (CHI), (D))
(2) (AR, (BIV), (O D
() (AHIL (B, (41, OHY)
(4 (ARIV), (B)-II), (C)-(T0), (D))
Options :
878270162309. 1
878270162310. 2
878270162311. 3

878270162312. 4

Question Number : 119 Question Id : 87827041329 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - [ with List - 11,

Lt - | List - 1]
[A] M.G. Ross (1] Community Wellare Orpanization
[B] Aurther Dunham () Community Craanization : Theery Principles and
P'ractice
(C) Paulo Freire () Social Planning and Community Organization ;
Community, Development
([ S K. Khinduka (IV) Pedagogy of the Oppressed

Choose the correct arswer [rom the opticas gven below :
(1) (AH1), (BRI, {CHLL), (D-0V)

(2] (AR, (B)-0, (CHIV), (D)

(3] (AT, (BIV), (C)4T), (D1

4] (AHL, (B-IV), (CHI), (D)

Options:

878270162313. 1

878270162314. 2

878270162315. 3

878270162316. 4

Question Number : 119 Question Id : 87827041329 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tl - 15 J e - 11 0 S i
-1 -1

W) o () TR A AR

(B) M A () FPIE e - o, T T e

C) W W (L) S T T A AR F e
) w E g (1v) TERTE S 3 S

i fgu o foedl 1 2 0 o 9 9 i

(1) (AR, (B(), (CH{II), {Dh-{TV)
(2} (AL, (B)-1), (CHIV), (D)1
(3)  (AMLL), (BHIV), (CL), (DHL)
() (AR, (B-V), (CH1), (D)-{LI)
Options:
878270162313. 1
878270162314. 2
878270162315. 3
878270162316. 4

Question Number : 120 Question Id : 87827041330 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - [ with List - IL

List - 1 List - 11
Research Terminologies Explanation
|A) Paradigm (1] Rejects the nabion of an objective social reghity
[B] Positivism (I} Emphasizes multiple subjective realities and the
impossibiity of being completely objective
(C] Social Constructivism (I} Emphasizes the pursuit of objectivity in quest to
observe and understand socal reality
(D) Postmodernism (V] A fundamental frame of reference that shapes our

ehservations and understanding
Choose the correct answer from the options gven below ;
1) (AR, (BHIV), (CHL. DHI)
) (AHIV), (BMI), (CH, D)
(31 (AHT, (BHT), (CHIL), (DI-IV)
() (AHID, (B-), (CHIV), (D))
Options :
878270162317. 1
878270162318. 2
878270162319. 3

878270162320. 4

Question Number : 120 Question Id : 87827041330 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



el - 1 0 gl - 11 7 T
-1 - I

(A) T (1) T T A 29 TG
B) Wtz () (L) %3 I T WA 3 A T e W
A T 2

(C) e (1) e e 1 e S 00 A 07
(e ) TS S 1 A R W A

D) R WA (1) e 71 v e = 7 Do A R A
(TR yfrEaER) ]

7 fon m frei A A MR I W A A

(1) (AR, BRIV, (CHLL DR
(2)  (AMIV), (B){I), (C), (D))
(3 (AN, (B, (CH{I), (D)-IV)
(4) (AR, (B, (OHIV), (D)
Options :
878270162317. 1
878270162318. 2
878270162319. 3

878270162320. 4

Question Number : 121 Question Id : 87827041331 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - [ with List - IL

List - 1 List - 11
Research Concept Related Research Question
(A) Pesitivism (1]  Does the new policy really help lhe poor or does il
keep them oppressed 7
B) Interpretivism (j What impact does the new policy have on poar
women !
(C) Critical Approach () Is the new palicy elfective inreducing poverty !
([} Feminist Approach (I¥) How do welfare recipients experience their Lives

changing under the new policy 7
Choose the correct answer fram the options gven below ;
(1) (M, (BHI, (CHI), D11V
(2 (AR, (B)-(L), (O, D=V
(3 (AT, (BRIV), ()T, (D)-(T)
4 (AHIV), (BT, (CHT), [O)-)
Options :
878270162321. 1
878270162322. 2
878270162323. 3

878270162324. 4

Question Number : 121 Question Id : 87827041331 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tl -1 % 9l - 11 1 e i
-1 - I

VI TR TR e W

(A) TR (1) 0 7 i e § el w1 e w9 = g
T &

(B) ST T () % 746 %1 i ufeemall @ F pE E?

(C) T TR () 0 % i T R A e

(D) w79 (IV] 7% T & S Feamen T & A a9 Fee
% W 3 0 A w2

e T 0 foed ¥ 9 W w9 i

(1) (AN, (B-{I, (CII), (Dj-IV)
(3 (AN, (8-, (CHI, DY)
() (ARLL), BHIV), (CHY, (DHL)
W) (ARIV), (B0}, (Ch), D)

Options:

878270162321. 1

878270162322. 2

878270162323. 3

878270162324. 4

Question Number : 122 Question Id : 87827041332 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL

List - 1 List - 11

Propounder Concept
(A)  Durkheim (I)  Order and Pluralist Theories
(B) Marx (1) Functionalism
(C) George and Wilding ([T} Anti-thesis of wellare society

(D) Parson (IV) Modem functionalist
Choose the correct answer from the options given below :

(1) (AMD, (BRI, (CHII), (D)-(IV)

(2)  (AMLD, (B)-(UD, {C)-(L), (D)-(LV)

(%) (AR, (BT, (C)-IV), (D)

(4)  (A)IV), (BI-(T), (C)-(IT), (D-(1)

Options :

878270162325. 1

878270162326. 2

878270162327. 3

878270162328. 4

Question Number : 122 Question Id : 87827041332 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tl - 1% T W= - 11 %1 e i
el - 1 Tl - 10

uferemaes LTI
(A) 3@m () X9 gfeg fasra
(B) T (I) YeHEaR
(C) el 7 Hffeg (M) Tae o Feamorer o
(D) A (IV) 3TYfF Jerdarst
e feu U fomedl ® € W& IO 1 T4 HIeC ;

(1) (AI), (B)-(I), (C)-(ILD), (D)-(IV)
(2)  (A)-(D), (B)-(II), (C)-(I), (D)-(IV)
(3) (A, (B)-(ID), (O-(V), (D)-()
(@) (AHIV), (B)HD), (C)-(1D), (D))
Options :

878270162325. 1

878270162326. 2

878270162327. 3

878270162328. 4

Question Number : 123 Question Id : 87827041333 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL

List - I List - II
Position Persons

(A) Father of Human Rights (I)  Sh Igbal Singh Lalpura
in India

(B) Chair person, National (I}  Sh Priyank Kanoongo
Human Rights commission

(€) Chairperson, National (II) Justice P N Bhagwati
Commission for Minortities

(D) Chair person, National (IV) Justice A K Misra

Commussion for Protection of
Child Right

Choose the correct answer from the options given below :
(1) (A)(IV), (B)-(IIT), (C)(ID), (D)-(I)

2) (A1), B)-), ©O)-V), (D)-(I)

(3)  (A)(II), (BHIV), (O)H(D), (D)-(I)

@) (A)-(I), (BR(I), (O)-(Im), (D)-(IV)

Options:

878270162329. 1

878270162330. 2

878270162331. 3

878270162332. 4

Question Number : 123 Question Id : 87827041333 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



et - 1 % |19 Gt - 1131 e #ife

it -1 et - 11
(A) YRd ¥ WHETMER % oHF () i seher ToE Arerga
(B) 3774, U AT S (1) 41 Toies s
(C) 3o1eAe, UL SEUgEre sTEm (1) ey 0. wwred

(D) A8, UL 1ol SAHFR (IV) <ifed . faa
G0 A
e feu u forkredl o © W@ I H1 =TI HifA

(1) (A1), (B)-(IL), (O)-(11), (D)-(0)
(2) (A1), (B)-(ID), (C)-IV), (D)

- )

(B)  (A)I), (B-IV), (1), (D))
@) (A)-(D), (BR-(1), (O)-(II), (D)-(IV)

Options :

878270162329. 1

878270162330. 2

878270162331. 3

878270162332. 4

Question Number : 124 Question Id : 87827041334 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL

List - I List - II

Legislation Year
(A) Indian Penal Code () 1897
(B) Indian Evidence Act (IIy 1894
(C) Prisons Act (IIT) 1872
(D) Reformatory School Act (IV) 1860

Choose the correct answer from the options giv en below :

(1) (A1), (B)-(11D), (©)-IV), (D)-(1)

(2)  (AHIV), (B)-(IL), (O)-(1D), (D)-(D)
(3) (A, (B)-(1V), (O)-(11), (D)-(I)
(4) (A1), (B)-(IV), (O)-(1), (D)-()

Options :

878270162333. 1
878270162334. 2
878270162335. 3

878270162336. 4

Question Number : 124 Question Id : 87827041334 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T - 1 W gt - 11 1 e i

et -1 gt - 11

faur= EL
(A) Efema 9 w2 (I 1897
(B) 3fedd zdiey TR (I) 1894
(C) T T (1) 1872
(D) TrFmiEl wFed T (IV) 1860

= feu 7o foredi § | W& I 1 = IS
(D) (A1, (B)-(11), (©)-(1V), (D)-(1)

(2)  (A)AIV), (B)-(II), (C)-(IL), (D)-(D)

(3) (A, (B)-(1V), (O)(1D), (D)-(D)

(4) (A, (B)-(1V), (O)-(I), (D)-(II)

Options :

878270162333. 1

878270162334. 2

878270162335. 3

878270162336. 4

Question Number : 125 Question Id : 87827041335 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL

List -1 List - II

Legislation Year
(A) Persons with Disability Act (I) 1997
(B) Mental Health Act (I 1992

(C) Rehabilitation Council of India Act (If) 1995
(D) National Trust for Welfare of Persons (IV) 1999
with Autism, Cerebral Palsy, Mental
Retardation and Multiple Disability Act
Choose the correct answer from the options given below :
(1) (A)-(D), (B)-(II), (C)~(II), (D)-(IV)
(2)  (A)-(I), (B)-(I), (C)-(ID), (D)-(IV)
(3) (A)-(I), (B)-(11), (C)-(I), (D)-(IV)
(4) (AAIV), (B)(II), (O)-(ILD), (D)-(I)

Options :
878270162337. 1
878270162338. 2

878270162339. 3
878270162340. 4

Question Number : 125 Question Id : 87827041335 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T - 1 % 919 G= - 11 361 e i

Tl - 1 - 11
faur= L]
(A) v fag feafaferel ww (I 1997
(B) Hew toY TR (I) 1992
(C) Tefafaeys wEba s fea e (I) 1995
(D) 9IS 2% R AR HE THH (IV) 1999
UE Aoy fedfafas]

A=l feu o famredi # ¥ W& S o = BT
(D) (AL, (B)-(I), (O)-(I), (D)-(IV)
(2)  (A)-(I), (B)-(T), (C)-(1D), (D)-(IV)
(3) (A1), (B)-(111), (©)-(D), (D)-(IV)
(4)  (A)HIV), (B)-(1D), (C)-(I1L), (D)-(T)
Options:
878270162337. 1
878270162338. 2
878270162339. 3

878270162340. 4

Question Number : 126 Question Id : 87827041336 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following phrases/concepts in ascending order of therr prevalence in social work.
(A} Paupensm not poverty is the problem

(B) People and their environmen)

(C) Person in situation pestalt

(D) People and their structural issues

Choose the correct answer from the options given below ;
() (&) () (8) (D)

(2 (Ch (AL (D), (B)

(33 (B) (C) (D), (&)

(4 (A (B, (C) (D)

Options :

878270162341. 1

878270162342. 2

878270162343. 3

878270162344. 4

Question Number : 126 Question Id : 87827041336 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Fretferis e dRegal %1 9 6 § 50 o & e w9 § saEfer Fia)
(4) T Y et sAfee ()
(B) T T

(C) wmy fiufn ¥ =i
(D) T e O
A om0 el | © W W 9 i

(1) (A), (O, (B), (D)
@) (C) (4 (D) @)
3) () (C), D),
@ (&) ®) () o)

Options :

878270162341. 1



878270162342. 2
878270162343. 3

878270162344. 4

Question Number : 127 Question Id : 87827041337 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the following reform movements in correct ascending order :
(A) Satya Shodhak Samaj

(B) Brahmo Samaj

(C) Prarthana Samaj

(D) Ramkrishna Mission

Choose the correct answer from the options given below :

(1) (A), (B), (O (D)

(2)  (A), (©), (B) (D)
3 (B) (A) (D) ©
4) (B, (A) (), (D)

Options :

878270162345. 1
878270162346. 2
878270162347.3

878270162348. 4

Question Number : 127 Question Id : 87827041337 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



freferfiga gum sticradi &l Wel SRl 0 H =afied Hifa .
(A) TR A

(B) &l AT
(C) Wil HHrst
(D) THFw fHIA

= Teu T foskedi @ € W& I Al FIH HifaT
() (A) (B), (O), (D)
(2)  (A) (Q), (B), (D)
(3) (B), (A), (D), (©
) (B), (A), (), (D)
Options:
878270162345. 1
878270162346. 2
878270162347.3

878270162348. 4

Question Number : 128 Question Id : 87827041338 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the stages of formation of social movements.
(A) The formalisation stage

(B) The popular stage

(C) The Dissolution stage

(D) The unrest stage

(E) The stage of Institutionalisation

Choose the correct answer from the options given below :
(1) (), (©), (B), (A), (D)

(2 (A (D), (B), (C) (E)

(3) (D), (B), (A), (E), (O)

(4) (D) (A) (E), (B), (C)

Options :

878270162349. 1



878270162350. 2
878270162351. 3

878270162352. 4

Question Number : 128 Question Id : 87827041338 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

AmTfTeR Terer & fAoior =67 eTerensd &) =afem Fifau

(A)  SNIETER RO 3TaE]
(B) WAIRMIT-2Faeeq
(C) fererea-atereen
(D)  S7elia-sTaeen

(E) HEAMHIRTIT hi STereel

= feu o faredi § © 98 39T &1 9949 S
(1) (B), (©), (B), (A). (D)

(2) (A), (D), (B), (©), (E)

(3) (D) (B), (A), (E), (O

(4) (D), (A), (B), (B), ()

Options :

878270162349. 1

878270162350. 2

878270162351. 3

878270162352. 4

Question Number : 129 Question Id : 87827041339 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



According to Douglas there are five stages of social group work, Which is the correct sequence of
stages by Douglas 7

(A] Creation

[B] Operation

(C) Conceptualization
(D) Termination

[E] Evaluaton
Choose the correet answer [rom the options gven below :
1) (A) () (8) (O} (B
() (C). (A (B), D), (E)
(31 (A} (B), (C), (E), D)
[4)(C), (A (E), (B), (D)
Options:
878270162353. 1
878270162354. 2
878270162355. 3

878270162356. 4

Question Number : 129 Question Id : 87827041339 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ST 4 S e ST T 1 O R A | ST ) A T sl o 7 A
FAWE

A)

(B) wiE

(C) W

D) W

) T
T o m e A A W I A A
1) (A)(C) @), (D, (K
(2 (G (A). (B (O) (B
(3 (Al (B (C) B). (D]
[4) () (A () (B). (D)
Options :
878270162353 1
878270162354, 2
878270162355 3

878270162356. 4

Question Number : 130 Question Id : 87827041340 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the sequence of practice of community work according to their correct stages,
(A) Identification of the needs

(B}  Enlisting penple’s participation

(C) Resource mobilization

(D) Programme planning

(E) Programme implementation

Choose the correct answer from the options given below ;
(1) (A). (8), (C). (O) (E)

(2) (B, (D) (S, (B). (4)

(3) (O (D), (#), (B, (E)

(4)  {A). (C), (B, {E), (D)



Options :

878270162357. 1
878270162358. 2
878270162359. 3
878270162360. 4

Question Number : 130 Question Id : 87827041340 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

qEIae FF SEEE F TS @1 T 8 AT F SFEn Sk fi .
(A) HTETEER H EEH

(B) T &I WFIE B A oA

(C) T A

(D) FTHFA I A= T

(E) @rHwn B
41 feu U el 9 | W@ I F 90 FlA0

(1) (A (B), (C), (D), (E)
(@) (B, (D), (C), (B), (A)
(3 (C), (D), (A), (B), (E)
(4) (A){C). (B), E), (D)
Options:
878270162357. 1
878270162358. 2
878270162359. 3

878270162360. 4

Question Number : 131 Question Id : 87827041341 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following concepts in the correct sequential onder of undertaking a rsearch study ;
(A) Realism

(B] Positivism

(C) Objectivism

(D) Quantitative approach

[E]  Quasi-experimental desgn

Choose the correct answer from the options given helow :
(1) (A), (B}, (C), (D} (E)

2 (8 (C) (A), (E), D)

3 () ), B, (0} (E)

(41 (8), (C), (E) (D), (4)

Options :

878270162361. 1

878270162362. 2

878270162363. 3

878270162364. 4

Question Number : 131 Question Id : 87827041341 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Freififas Feerns &1 f5 Y s 5 906 F o SEn o sEfem Hie .
(A) TR
(B) WHHER
(C) fmfeEas
(L) TETER 35FH
(B) -yrIiE i
4 feu o foret] o 9 T I A = A .
(1} (A) (B), (), (D) (E)
@ @), (©) (), ) D)
(3 (A) (), (B), (D), (B)
(4)  (B) () (E), (D), (A)



Options :

878270162361. 1
878270162362. 2
878270162363. 3
878270162364. 4

Question Number : 132 Question Id : 87827041342 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the proper sequence of the steps involved in formulation of the policy
(A} Define the problem as a public issue

(B) Legitimize Pelicy elforts through public support

(C) Prepare an initial policy statement that identifies goals

(D) Develop supportive organizational structures and political relationships
[E) Provide the information to the public

Choese the correet answer from the options given below

(1) (A) (B} (), (D) (E)

(2} (A, (€) (D), (E). (B)

(3}  {A), (D), (E), (B}, (C)

(4] {A), (E}, {C), (D), (B)

Options:

878270162365. 1
878270162366. 2
878270162367. 3

878270162368. 4

Question Number : 132 Question Id : 87827041342 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



=fifa fwror o =i 1 3fed om | saferd #
(A) HrESIR e % 9 H Tl g s
(B) ik THdA % mreAm | Afq Gael yardl @ ayey o
(C) &l &1 Y= A dfeTl AR Hifd e Ta FE1
(D) WeM®E GSAcHE HlEAIel SR UsHifas FaHl &1 foskfaa e
(B) SIel %1 YT SYeTs eI
T feu o fomredi § 9 WE 39 #5999 F e
(1) (A), (B), (©), (D), (E)
2 (A) (©), (D), (E), (B)
(3) (A), (D), (B), (B), (O)
4 (A) (E), ©), (D), (B)
Options:
878270162365. 1
878270162366. 2
878270162367. 3

878270162368. 4

Question Number : 133 Question Id : 87827041343 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the core United Nations Human Right Conventions m ascending order with reference to
the vear of approval ;

|A) International convenant on Civil and Political Rights
() Convention on the Elmination ol all forms of Discrimnabion agamnst Women

(C) Convention against Torture and Other Cruel, Inhuman and Degrading Treatment or
Punishment

(D) International Convenent on Rights of the Chuld

[E) Convention on the Rights of Persons with Disabilites
Choose the correet answer [rom the options gven belaw :
(1) (AL (C) (DY, (B, (E)

(2 {C). (B), (AN (), (E)

(31 (AL (D), (B), (), (E)

() (A} (B) (), (D), (B

Options:

878270162369. 1

878270162370. 2

878270162371. 3

878270162372. 4

Question Number : 133 Question Id : 87827041343 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



SR N % e § WEey B U W A S w SR A e )
(&) SIS I A T ga e (i)
B) iemad F foeg o TN & S TE S Ta g
(C) I A e, AN AR AHEE A 1 76 % faeg e
(D) A s % WAy § o i ()
ool % afiser o day ¥ g
A few v el | 4 W T 9 R
(1} (A}, (O, @, (B), (E)
2) (), (B). (A), {UL

(E)
B) (A (D), ), (O ()
(@ (A) () (. D) (B

Options :

878270162369. 1
878270162370. 2
878270162371.3

878270162372. 4

Question Number : 134 Question Id : 87827041344 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

There are various authoribies set up as a part of dispute seitlement machinery under Industrial
Dispute Act. Arrange in ascending order

(A) Works Commuittee/ Grievance Redressal Committee
(B)  Conciliation Officer

(C) Board of Conciliation

(D) Arhitration

(E} Labour Court/ Industrial / National Tribunal
Choose the correct answer [rom the options given below |
(1) (A} (8 (D, (C) (E)

@ (880,08

31 (B) (C). (A} (D) ()

41 (B, (C) (A), (E) (D)



Options :

878270162373. 1
878270162374. 2
878270162375. 3

878270162376. 4

Question Number : 134 Question Id : 87827041344 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

g famre wfifm % a2 faae goom @ & ym & 0 o fafes o & v f5 m 2

T R 0 6 e i
B) HFR A

(C) T 9% TR
IR

[E) o =g i At
1= fou 0 foeg % F W I F T 040
(1) (A (B (D), () (B
(2) (A, (B), {C), D), (E]
(3 (B) () (A), D) (B
H:I IIH] I:':.-:I. (A, (E), (I
Options:
878270162373. 1
878270162374. 2
878270162375. 3

878270162376. 4

Question Number : 135 Question Id : 87827041345 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Arrange the following Pobicy/ Act related to children in as per their vear of introduction :
(A} The Protection of Children from Sexual Offences
(B)  The first National Policy for Children

(C) The Prohibition of Child Marriage Act

(D) National Policy on Child Labour

Choose the correct answer from the options gven below :
(1} (A (B, (©) (D]

(21 (), () (D) (A)

B @) (D) () (A

(4] (C), (D), (A) (B)

Options :

878270162377. 1

878270162378. 2

878270162379. 3

878270162380. 4

Question Number : 135 Question Id : 87827041345 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
R H A | weEp i afaTe e e a0 F SER Sraie i
(A) A T | T
(B) WUW TEM A A
(C) = faam oy afufam
(D) TR a5 i
A1 fam o ekl ® 9 W I 99 i
(1) (Al (B) ) (D)
(2 (B) (C) (D), (A

(3 (B, (D), (€}, (4]
(4} (). (D), (A). (B)

Options :



878270162377. 1
878270162378. 2
878270162379. 3

878270162380. 4

Question Number : 136 Question Id : 87827041346 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are bwo statements ;

Statement (1) :  People belongmg to different social groups share differences and similarihes,
cutting across the boundaries of their groups,

Statement (1) : Every social dilterence does not lead ke social division,
In the light of the above statements, choose the most appropriate answer from the opfions given
below ;

(1) Both Statement | and Statement I are trae

2] Bath Statement | and Statement 11 are false

(3]  Statement 155 trup but Statement 11 s fake

4]  Statement 115 false but Statement H 15 true

Options :

878270162381. 1

878270162382. 2

878270162383. 3

878270162384. 4

Question Number : 136 Question Id : 87827041346 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



T TR

FUA (1) STE S H R A A o o 5 e i A i R gt e
T & 7

T (1) : 7 B M e e 7= 9 #

TRIH FH F e 6, A (30 e § S I e e

(1) e (1) e (1) A &

() e (1) 3 F (1) 3 o

() R (1) T 7, T R (1) e T

) T (1) 9§, T (1) T G

Options :

878270162381. 1

878270162382. 2

878270162383. 3

878270162384. 4

Question Number : 137 Question Id : 87827041347 Question Type : MCQ Option Shuffling
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : one is labelled as Assertion (A) and the other is labellad as
Reason (R).

Assertion (A) 1 Social Structures consist of wnequally advintaged groupe.

Reason (R} 1 Inequality results [rom the domination and explaitalion embedded in the structure
al seciely.

In the light of the above statements, chocse the most appropriate answer from the options given
below ;

(1) Both (A} and (R) are correct and (R} is the correct explanation of (A}

(2 Bath (A) and (R} are correct but {R) is not the comect explanation of (A)

(3] (A} is correct but (R) i not correct

{4] (A} is not correct but (R) 35 correct

Options :

878270162385. 1

:No



878270162386. 2
878270162387. 3

878270162388. 4

Question Number : 137 Question Id : 87827041347 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
e @ e T 0 E O AVERe (Assestion A) % %9 4 o & @ 580 3566 @00 (Reason R)
FEY
WA (A) ;TR TR T SR A T T A O A
FW(R): i S AR Ty AR I e S 36 g |
(1) (A} SR (R) < =0 ¥ 0 (R), (A) 90 96 =
() (A) 307 (R) 51 70§ 3 (R), (A) 1 o
() (AT AR T WS

[4) (A) TR T A R) TR

Options :

878270162385. 1

878270162386. 2

878270162387. 3

878270162388. 4

Question Number : 138 Question Id : 87827041348 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements ; one is labelled as Assertion (&) and the other i labellad as

Reason (R).

Assertion (A} Self-help should be the means to individual fulfiiment.
Reason (R) :  Case work focus on individual's duwe]npnml.

In the light of the above statements, choose the most appropriate answer from the opfions given
below ;

(1) Both {A) and {R) are correct and (R) is the correct explanation of (A)
2]  Bath (A} and (R} are correct but (R) is not the comect explanation of (A)
(3] (A} 15 correct but (K) & not correct

(4] (A is not correct but (R) is correct

Options :

878270162389. 1

878270162390. 2
878270162391. 3

878270162392. 4

Question Number : 138 Question Id : 87827041348 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A @ w0 e T E T AR (Assertion A) F F9 ¥ fafe £ 91 90 395 SO (Reason R)
FE

AR (A) . T TR S-S # R e
FW (K)o a2

TRIH B F A §, 7 T T W A
(1) (A} 3l (R) 3R =0 & i (R), (A) 91 961 = &

() (A) 4 (R) 3 7 € 3 (R), (A) 31 7 A

() (A)TE EHE (R) T W

W) (A) TR TR & A (R) TR

Options :

878270162389. 1

878270162390. 2



878270162391. 3

878270162392. 4

Question Number : 139 Question Id : 87827041349 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements ; one 1s labelled as Assertion (A) and the other 15 labelled as

Reason (R).

Assertion (A} : The Community worker may or may not have the socio-economic Background as
the community he/'she may work with,

Reason (R} :  The Communily worker's world view on an many issues may greatly vary from
ideas and practices of people he/she work wilh,

In the light of the above statements, choose the most appropriate answer from the opfions piven

below :

(1) Both (A} and (R) are correct and (R) is the correct explanation of (A

(2]  Both (A) and (R} are correct but (R) is not the comect explanation of (A)

(3] (A} is correct but (B} = not correct

(4] (A} is not correct but (R) is corect

Options :

878270162393. 1

878270162394. 2

878270162395. 3

878270162396. 4

Question Number : 139 Question Id : 87827041349 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



4 @ F GO TR ¢ O AR (Assertion A) % 7 % Tl £ 1 790 395 @00 (Reason R)

FEH

R (A) . TR FEE § TR 9 T A A - i ey E a o o
Al & A T R o o W W e

T (R): O A F o R €, T 9 o g g
T R o o o e @ g e A e

THIH TR F A E, 7 T S I W W a6

(1) (A) 9 (R) 31 50§ 0 (R), (A) F 5 =R

() (A) 3T (R) 31 %01 R S (R), (A) 1 76 o 6 g

B () FR R A (R T

() (A) T T E AR TR

Options :

878270162393. 1
878270162394. 2
878270162395. 3

878270162396. 4

Question Number : 140 Question Id : 87827041350 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (T) ;  The Principles of sovial plannimng are like a set of guidelines that help people create
policies and programs,

Statement (1) : The puidelines make sure Lhal evervone 1 treated Rirly, and that people who
might be lell out of the decision making are heard,

In the light of the above statements, chocse the most appropriate answer from the options given

below ;

(1) Both Statement 1 and Statement II are correct

(2] Both Statement | and Statement 11 are meomect

(3] Statement 1 is correct bul Statement 11 s incorrect

(4]  Statement I is incorrect but Statement Il is correct



Options :

878270162397. 1
878270162398. 2
878270162399. 3

878270162400. 4

Question Number : 140 Question Id : 87827041350 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

FUA (1) T (T & g o T & O W A AR e W w A 6% e
TR R R

o (1) ;T P34 7 g o o & o el o 5 = e ), ol o
TR T % AT ¥, 7 0 T fae o A W I e i

(1) e (1) 7 e (11) 3Hi 7

) R (1) o (1) O

() A (1) T 7, A R (1) 5 2

(4) Y (1) T, A T (1) B R

Options:

878270162397. 1
878270162398. 2
878270162399. 3

878270162400. 4

Sub-Section Number : 2
Sub-Section Id : 8782701729
Question Shuffling Allowed : Yes

Is Section Default? : null



Question Id : 87827041351 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension

Read the Passage and answer the following questions,

Human Capital and Social Capital can complement each other or they an destroy each other
Sodial Capifal & a concept can help the actors to realise the importance and usefuiness of those aspects
of Social structure which will help them to achieve their interests. Human capital is crealed by shaping
the individuals by gving (hem skills and capabilities that gives tem power o act in nnovative ways b
produce. Secial Capital i created by shaping relabions between individual lo faciliate action. A growp
where members trust each ofer will act betler than the one where there 15 no trusl. The importance of
Social Capital has been exhibiled by the acceptance of team develnpment efforts by e corparation. [n
cohisive groups where members ane willing o help each olher and abade by the group noems, the level of
trustworthiness of the group environment is a crucial factor in the success of the group. [bmeans cbligation
will be repaxl. However, if obbgatons and expectations are not bilance the Sedal Capital gets diluted
Norms and effective sanction can hefp in hakincing obligations and expectations,

Sub questions

Question Number : 141 Question Id : 87827041352 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

How is human capital created ?

(1) By realising importance of social structure

(2) By using machines to increased productivity

(3) By shaping relations between individuals

(4) By shaping individuals with skills and capabilities
Options :

878270162401. 1

878270162402. 2

878270162403. 3

878270162404. 4

Question Number : 142 Question Id : 87827041353 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are correct about Human Capital and Social Capital ?
(A) Human Capital and Social Capital are complementary in nature,

(B) Social Capital helps actors to realise the importance and usefulness of social structure.
(C) The level of trusbworthiness is inversely related to serial capital

(D) Imbalance m obligation and expectations diutes social capital,

Choose the correct answer from the options given below :

(1} (A}, (B) and [C) Only

(2 (B}, (C) and (D] Only

(3} (A), (B) and (D) Only

(4 (A}, (C) and (D) Only

Options :

878270162405. 1

878270162406. 2

878270162407. 3

878270162408. 4

Question Number : 143 Question Id : 87827041354 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which is true about Social Capital ?

(1) Social Capital is created by shaping relations between individuals to facilitate action

(2] Social Capital works better in groups with no trust

(3)  Social Capital gives individuals powrer to act m mnovative ways

(4)  Social Capital ends up in lraining the individuals with skills,

Options :

878270162409. 1

878270162410. 2

878270162411. 3

878270162412. 4



Question Number : 144 Question Id : 87827041355 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements ;

Satement (1) :  The importance of Secial Capital in team development etforts still awaits
acceplance by the Corporations,

Statement (1) : Norms and eflective sanchion negate the balancing between obligations and
expectabions.

In the light of the above statements, choose the most appropriate answer lrom the opHons given
below ;

(1)  Both Statement | and Statement Il are correct

(2]  Both Statement | and Statement [1 are meomect
(3]  Statement 1 is correct but Statement 11 is incorrect
(4] Statement | s moorrect but Statement 1 is correct
Options :

878270162413. 1

878270162414. 2

878270162415. 3

878270162416. 4

Question Number : 145 Question Id : 87827041356 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are bwo statements ;

Statement (T) :  Human Capital and Secial Capital can complement each other,

Statement (1) : Human Capilal and Social Capital can distroy each other,

In the light of the above statements, choose the most appropriate answer from the opfions given
below :

(1) Both Statement 1 and Statement II are correct

2] Bath Statement | and Statement 11 are mcomect

(3] Statement | i5 correct but Statement 11 s incorrect

(4] Statement I is mcorrect but Statement Il is comect
Options :

878270162417.1

878270162418. 2

878270162419. 3

878270162420. 4

Question Id : 87827041351 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension
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B T S AR 9 A A F 7 A & W oA v # SR A W o £
% 3 Tl A e TR | R ot 0 el O A 9 T S o W E
SR I A R T S (000 TR 0§ WA 50 T o £ 1 S O o o 6 g
T F T S & A A 31 A o gt e e 1 o e e v - g e
T W A w07 [ A T F| S U v A g i
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W 1 WA T, 98] T T ) R 1 T e 0 e o 2 £
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Sub questions



Question Number : 141 Question Id : 87827041352 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
oe Yot S gied 5 S &2
(1) HHITSER WA 1 Hel SR
(2) ¢ BT I ok fere wHHAT < g 5
(3) =AfFEl * == GaHi F STER T
(4) I R qWed & WY Afdddl 1 FIA TR

Options :

878270162401. 1
878270162402. 2
878270162403. 3

878270162404. 4

Question Number : 142 Question Id : 87827041353 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TFTE T 2R AT o A1 6 e S0 6 @ S s R W e

[A) Fl_ﬂ‘ﬂ 3 FH qjﬂ ERETh 7

(B) TTeE S Al F1 AW HE & e ol I W e w o
(C) TavawHTIR 1 7 W g1 | T S g

(D) it i el ¥ amiges @ artE e @ o

7 fen u foretl O § W S ) 9 i ;

(1) (A), (B) 97 (C)

) %4 (B), (C) WD)

(@) (A), (B) W (D)

(4) FAF (A), (C) #F (D)

Options:



878270162405. 1
878270162406. 2
878270162407. 3

878270162408. 4

Question Number : 143 Question Id : 87827041354 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

&

ARt 1t o i o Frefeias § 4 En e
(1) wrafaE Ta B ) 0 & T s e g o A A e ©
(2) e YA vy T e © Aee o 9 G

Options :

878270162409. 1
878270162410. 2
878270162411.3
878270162412. 4

Question Number : 144 Question Id : 87827041355 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



EEEE S

TR (1) ; 2% Torm T e o T 1 o T S o e (o A A e
T (1) : W 7 T T A o T & i v W A

TR T & A0 ©, 7 fon T e § 1 @ e e

(1) e {I) 3T e (1) 3F 7§

(2) (1) S F (1) S

) U (1) T T, O (1) S

[y T () S5 F, A (1) 7 2

(3
Options:

878270162413. 1
878270162414. 2
878270162415. 3

878270162416. 4

Question Number : 145 Question Id : 87827041356 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

EERAERE AT

AT () : WS Yol SR Tiferes o T g S HYRa 9 gehd ¢ |
U (I1) : TE YTt SR rifor gf U gt I T Y o ¢ |
TR HYF & el |, = fou T foewedl § ¥ 9 S9 #1991 Hirao
(1) A (1) IR W (1) TH T §

(2) A (1) R we (1) T I €
(3) e (I) T T, WA U (11) 39 §
(4) R (I) FGA B, TIfob YA (1) 9 8
Options :

878270162417. 1

878270162418. 2

878270162419. 3



878270162420. 4

Sub-Section Number : 3
Sub-Section Id : 8782701730
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827041357 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension

Read the Passage and answer the following questions,

Civil liberties as guarnteed by the constitution of India imply the existence of an orgarised society
maintaining public crder without which Bberty itself woald be lost in the excess of unrestrained abuses.
Unrestricted ]i]'ﬂl'l:l. hecomes a lience and __x'n|‘~.31-;|1~.tt~. the liberty of others, There cannot be any such
lhmg g absolute and uncontnolled ]Ih'lt:l.' wholly freed Irom restramt, for thal would lead to anarchy
and disorder. The possession and enjovment of all righls are subject to such reasonable conditions as
may be deemed by the poverning authenty of the coantry essential lo the salety, health, peace, gereral
order and meeals of the communily, In some cases restrction have i be placed upon free exercise of
individual righis o saleguard the interest of sociely, On the order hand, sodal conlrol which exists for
public pood his got to be restrained, lest it should be misused to the detriment of individual rghts and
libertis

Sub questions

Question Number : 146 Question Id : 87827041358 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the avowed objective of Civil liberties ?

(I) Complete and unrestrictive freedom to the individuals

(2) Exastence of an organised society maintaining public order
(3) Possession and enjoyment of all rights

(4) Social control for the public good

Options :



878270162421. 1
878270162422. 2
878270162423. 3

878270162424. 4

Question Number : 147 Question Id : 87827041359 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What 15 the danger of unrestricted liberty 7
(1) Unrestrained liberty infrig on the power of the state.
2y Unrestrained hberty jeopardises the rizhts of abizens,
Y JEof b
3)  Unrestrained liberty becomes a licence and jeopardises the liberty of others.
] I )
(4)  Unrestained liberty Lies al the very hear of right Lo liberty.
Options :
878270162425. 1
878270162426. 2
878270162427. 3

878270162428. 4

Question Number : 148 Question Id : 87827041360 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (T) :  There cannot be any such thing as absolule and uncontrolled iberty.

Statement (1) : The Lberty wholly [reed trom restraimt woukd lead o anarchy and disorder,

In the light of the above statements, choose the most appropriate answer from the options given
below !

(1) Both Statement 1 and Statement Il are correct

(2]  Bath Statement | and Statement I1 are meomect

(3] Statement | i5 correct but Statement 11 s incorrect

(4] Statement 1 is moorrect but Statement 1 is correct



Options :

878270162429. 1
878270162430. 2
878270162431.3
878270162432. 4

Question Number : 149 Question Id : 87827041361 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the [ollowing are true about civil liberties ?

(A) Liberty freed from restrained would lead to anarchy and disorder
(B) Liberties are subject to reasonable condition

(C) Civil liberties imply existence of an orgamised sociely mamtaming order.
(D Liberty means [ree exercise of individual rights

(E}  Excers social control benefits individual rights and liberties
Choose the correct answer from the options given below :

(1) (A), (B) and (C} Only

) (8), (C) and (D) Only

(3)  (C), (D) and (E) Only

(4) (B), (D) and (E) Only

Options :
878270162433. 1
878270162434, 2

878270162435. 3

878270162436. 4

Question Number : 150 Question Id : 87827041362 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements ; one is labelled as Assertion (&) and the other i labellad as

Reason (R).

Assertion (A} Restrictions have to be placed upon free exercise of individual righis.

Reason (R} :  Civil liberbies with restrictions are of no value for idividual r:ghiﬁ and Iiberlies,
In the light of the above statements, choose the most appropriate answer from the opfions given
below ;

(1) Both (A) and {R) are true and (R) is the correct explanation of (A)

(2] Bath (A) and (R) are true but (R) is not the correct explanation of {A)

(3] (A)is true but (R) is false

(4] (A is false but (R) 15 true

Options :

878270162437. 1

878270162438. 2
878270162439. 3

878270162440. 4

Question Id : 87827041357 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension

frwferien Tam &1 W O & e

T 5 HE T A S A e R T R v e g § e e
ST 1 ST (1 9 0 0 T S ZAN & ) H S o w0 A S | A
T T T W 2 Sl g A R & A o g G o e F i
VR, 1 T ST A T A 9 A G T e v e T g, e,
T 41 E A EH e A i e A e o F e TR A e

Sub questions

Question Number : 146 Question Id : 87827041358 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
AR Edarsi 1 ST 3gevd I ?
(1) =afgadl o fog 9qof IR srHifad s
(2) HTESIR HTT I I A del Fied G 1 Ao
(3) HuE SRR 1 T ST GART
(4) Hrester fed & fau gmifses fa

Options :

878270162421. 1
878270162422.2
878270162423. 3

878270162424. 4

Question Number : 147 Question Id : 87827041359 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e PRk s R TR

(1) i S 19 & AR = dimem &5 ¢

() iR e A & e & e owen R

(3)  wHied e e ¥ 9w AR ¢ SR g E ) e & o A

(4) TG T A @ AER A 5

Options :

878270162425. 1
878270162426. 2
878270162427.3
878270162428. 4

Question Number : 148 Question Id : 87827041360 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T (1) : T 3 AT A AR e T 6 s

T (1) : T80 ST T80 & 3590 | T6: WA WA W AR A SEa o A
T FH F s o, 3 5 e | O s e

(1) A (1) 30 FF (1) 3 A E

(2) A (1) A (1) T A §

(3) TR (1) T 2, FHA w (1) A 2

[4) IR (1) 59 &, AR (1) 99 7

Options :

878270162429. 1
878270162430. 2
878270162431.3

878270162432. 4

Question Number : 149 Question Id : 87827041361 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tt A & Gay 8 Fefeie w0 § 4 F6 w8 8

(A) S Tin A 0 e R s e

(B) e o 7 & el o R

(€ A s ) Fiead & & o dfer s fam s &1 s fen )
(D) T A § e A w9 e T

() ety o friam 4 Safemr o ofn o & @ o )
A few 7 ol o B W@ S ) S 00

(1) (A), (B) Q)

2) ﬁﬁqm,{mﬁt[m

3 ¥ (O, D) # (B

(4) ¥ (B, (D) o (F)

Options :

878270162433. 1

878270162434. 2

878270162435. 3

878270162436. 4

Question Number : 150 Question Id : 87827041362 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A @ w0 T T E T AR (Assertion A) % F9 ¥ ffE & 91 990 395 SO0 (Reason R)
FEY

VR (A) ;ST AT F T T W 6 A T T

FW (K)o AR i A e e e
TRIH T & A 6, A T e § 4w e i

(1) (A) 3 (R) 25 =1 0 (R), (A) 1 96 =0 7

() (A) 4 (R) 39 7 A (R), (A) %1 T A

(%) (A) TR A (R) T W

() () R T & A ()



Options :

878270162437. 1
878270162438. 2
878270162439. 3
878270162440. 4



